Project: Road Maintenance and Rehabilitation (SB-1) Asphalt Concrete Overlays Bid Opening: 07/27/23 Contract No.: 23-07-M Scheduled Award Date: 08/08/23

Bidders

1 Yarbs Grading and Paving, Inc., 11339 S. DeWolf Avenue, Freeno, CA 83725

2 Emmett S Excavation, Inc., 1477 Menlo Avy, Clovis, CA 83911

3 Ages Construction Corporation, 1039 Hobilit Avenue, Clovis, CA 35912

4 CAL, Valley Construction, Inc., 2518 N. Gales Avenue, Sulte 102, Freeno, CA 93722

5 Teichner, 409 Sunrise Avs.; Sulte 309, Roseville, CA 95619

6 Caralle Construction Company, 2716 Foresite Court, Freno, CA 93706

7 Avison Construction, Inc., 40434 Brichyard Dr., Madera, CA 93636 Yarbs Grading and Paving, Inc. Emmett's Excavation, Inc. Agee Construction Corporation CAL Valley Construction, Inc. Teichert Granite Construction Company Avison Construction, Inc. Yarbs Grading and Pa Subcontractors Statewick Safety Taley Oil, Inc Safety Striping Service Trinty Engineering Laboratories, Inc Fresno Concrete Construction Subcontractors
Safety Striping Service, Inc.
Talley Oil, Inc.
Statewide Safety Systems
Traffic Loops Crackfiling, Inc. Subcontractors
Statewide Safety Systems
Safety Striping Service, Inc.
Talley Oil, Inc Teichert
Subcontractors
Asphalt Dike Construction, Inc. dba APCO
Talley Oil, Inc
Safety Striping Service, Inc.
ANRAK CORPORATION Subcontractors
Subcontractors
Asphalt Dike Construction, Inc. dba APCO
Safety Striping Service, Inc.
Pavement Recycling Systems, Inc.
Talley Oil, Inc. Subcontractors Safety Striping Service Talley Oil Statewide Safety Systems Subcontractors Safety Striping Service Pacific Northwest Oil

BASE	BID ITEMS			Engineer's	Estimate		1	2	,	3		4 5			5	6		7	
ITEM NO.	QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)														
1	1	LS	Mobilization	\$ 100,000.00	\$ 100,000.00	\$1,200,000.00	\$1,200,000.00	\$800,000.00	\$800,000.00	\$1,500,000.00	\$1,500,000.00	\$1,500,000.00	\$1,500,000.00	\$1,387,010.00	\$1,387,010.00	\$1,600,000.00	\$1,600,000.00	\$800,000.00	\$800,000.00
2	500,000	\$	Supplemental Work (Payment Adjustment for Price Index Fluctuations)	\$ 1.00	\$ 500,000.00	\$1.00	\$500,000.00	\$1.00	\$500,000.00	\$1.00	\$500,000.00	\$1.00	\$500,000.00	\$1.00	\$500,000.00	\$1.00	\$500,000.00	\$1.00	\$500,000.00
3	100,000	\$	Supplemental Work	\$ 1.00	\$ 100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
4	8	EA	Construction Project Funding Signs	\$ 1,000.00	\$ 8,000.00	\$1,000.00	\$8,000.00	\$1,500.00	\$12,000.00	\$1,000.00	\$8,000.00	\$980.00	\$7,840.00	\$1,000.00	\$8,000.00	\$1,000.00	\$8,000.00	\$1,000.00	\$8,000.00
5	1	LS	Traffic Control System	\$ 150,000.00	\$ 150,000.00	\$312,000.00	\$312,000.00	\$756,000.00	\$756,000.00	\$625,000.00	\$625,000.00	\$1,737,000.00	\$1,737,000.00	\$466,300.30	\$466,300.30	\$1,615,500.52	\$1,615,500.52	\$705,000.00	\$705,000.00
6	4	EA	Portable Changeable Message Sign	\$ 1,500.00	\$ 6,000.00	\$1,500.00	\$6,000.00	\$5,000.00	\$20,000.00	\$7,500.00	\$30,000.00	\$4,500.00	\$18,000.00	\$6,000.00	\$24,000.00	\$5,000.00	\$20,000.00	\$4,800.00	\$19,200.00
7	1	LS	Job Site Management	\$ 16,000.00	\$ 16,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$18,200.00	\$18,200.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
8	1	LS	Prepare & Implement Water Pollution Prevention Plan	\$ 4,000.00	\$ 4,000.00	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$19,600.00	\$19,600.00	\$595.00	\$595.00	\$2,000.30	\$2,000.30
9	1	LS	Remove Pavement Markers	\$ 2,000.00	\$ 2,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$19,200.00	\$19,200.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
10	234,303	LF	Remove Thermoplastic Traffic Stripe	\$ 0.50	\$ 117,151.50	\$0.55	\$128,866.65	\$0.55	\$128,866.65	\$0.60	\$140,581.80	\$0.55	\$128,866.65	\$0.55	\$128,866.65	\$0.55	\$128,866.65	\$0.55	\$128,866.65
11	3,364	SF	Remove Thermoplastic Pavement Marking	\$ 3.00	\$ 10,092.00	\$4.00	\$13,456.00	\$4.00	\$13,456.00	\$4.50	\$15,138.00	\$4.00	\$13,456.00	\$4.00	\$13,456.00	\$4.00	\$13,456.00	\$4.00	\$13,456.00
12	2,700	CY	Replace Asphalt Concrete Pavement	\$ 300.00	\$ 810,000.00	\$300.00	\$810,000.00	\$400.00	\$1,080,000.00	\$335.00	\$904,500.00	\$300.00	\$810,000.00	\$400.00	\$1,080,000.00	\$345.00	\$931,500.00	\$400.00	\$1,080,000.00
13	400	LF	Remove Asphalt Concrete Dike	\$ 2.50	\$ 1,000.00	\$7.00	\$2,800.00	\$8.00	\$3,200.00	\$6.00	\$2,400.00	\$4.00	\$1,600.00	\$10.00	\$4,000.00	\$6.00	\$2,400.00	\$5.00	\$2,000.00
14	19,390	SY	Cold Plane Asphalt Concrete Pavement	\$ 10.00	\$ 193,900.00	\$5.00	\$96,950.00	\$8.00	\$155,120.00	\$7.00	\$135,730.00	\$9.00	\$174,510.00	\$6.50	\$126,035.00	\$10.00	\$193,900.00	\$20.00	\$387,800.00
15	98,516	TON	Hot Mix Asphalt (Type A 3/4" Grading)	\$ 100.00	\$ 9,851,600.00	\$92.00	\$9,063,472.00	\$95.00	\$9,359,020.00	\$93.00	\$9,161,988.00	\$90.00	\$8,866,440.00	\$102.00	\$10,048,632.00	\$80.00	\$7,881,280.00	\$105.50	\$10,393,438.00
16	141	TON	Minor Hot Mix Asphalt	\$ 500.00	\$ 70,500.00	\$150.00	\$21,150.00	\$200.00	\$28,200.00	\$175.00	\$24,675.00	\$200.00	\$28,200.00	\$290.00	\$40,890.00	\$200.00	\$28,200.00	\$100.00	\$14,100.00
17	94	TON	Tack Coat	\$ 800.00	\$ 75,200.00	\$600.00	\$56,400.00	\$750.00	\$70,500.00	\$2,250.00	\$211,500.00	\$1.00	\$94.00	\$3,100.00	\$291,400.00	\$2,800.00	\$263,200.00	\$1,500.00	\$141,000.00
18	141,346	SQYD	Geosynthetic Pavement Interlayer (Paving Mat)	\$ 3.00	\$ 424,038.00	\$2.10	\$296,826.60	\$2.75	\$388,701.50	\$2.60	\$367,499.60	\$2.07	\$292,586.22	\$2.00	\$282,692.00	\$1.93	\$272,797.78	\$2.20	\$310,961.20
19	160	TON	Asphalt Binder (Geosynthetic Pavement Interlayer)	\$ 500.00	\$ 80,000.00	\$1.00	\$160.00	\$1.00	\$160.00	\$1.10	\$176.00	\$1.00	\$160.00	\$1.00	\$160.00	\$1.00	\$160.00	\$1.00	\$160.00
20	4,580	LF	Place Hot Mix Asphalt Dike (Type E) Case-R	\$ 5.00	\$ 22,900.00	\$4.00	\$18,320.00	\$2.00	\$9,160.00	\$11.00	\$50,380.00	\$10.00	\$45,800.00	\$5.00	\$22,900.00	\$5.60	\$25,648.00	\$7.50	\$34,350.00
21	58	EA	Survey Monuments (Type D)	\$ 1,500.00	\$ 87,000.00	\$800.00	\$46,400.00	\$1,700.00	\$98,600.00	\$1,600.00	\$92,800.00	\$1,300.00	\$75,400.00	\$1,000.00	\$58,000.00	\$1,100.00	\$63,800.00	\$1,100.00	\$63,800.00
22	12	EA	Inductive Loop Detector (Type A & Type D)	\$ 1,200.00	\$ 14,400.00	\$1,200.00	\$14,400.00	\$1,150.00	\$13,800.00	\$1,000.00	\$12,000.00	\$750.00	\$9,000.00	\$1,200.00	\$14,400.00	\$1,000.00	\$12,000.00	\$800.00	\$9,600.00
23	24,095	CY	Shoulder Backing	\$ 35.00	\$ 843,325.00	\$11.00	\$265,045.00	\$34.00	\$819,230.00	\$41.00	\$987,895.00	\$35.00	\$843,325.00	\$25.00	\$602,375.00	\$60.00	\$1,445,700.00	\$80.00	\$1,927,600.00
24	1	LS	Finishing Roadway	\$ 20,000.00	\$ 20,000.00	\$20,000.00	\$20,000.00	\$16,356.05	\$16,356.05	\$110,000.00	\$110,000.00	\$10,000.00	\$10,000.00	\$185,000.00	\$185,000.00	\$1,000,000.00	\$1,000,000.00	\$40,000.00	\$40,000.00
25	4,580	SF	Paint Dike 2-Coat	\$ 5.00	\$ 22,900.00	\$1.20	\$5,496.00	\$1.20	\$5,496.00	\$1.30	\$5,954.00	\$1.20	\$5,496.00	\$1.20	\$5,496.00	\$1.20	\$5,496.00	\$1.20	\$5,496.00
26	500	EA	Pavement Marker (Retroreflective) (Type D)	\$ 5.00	\$ 2,500.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.80	\$4,400.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.50	\$4,250.00
27	20	EA	Pavement Marker (Retroreflective) (Type G)	\$ 5.00	\$ 100.00	\$8.00	\$160.00	\$8.00	\$160.00	\$8.80	\$176.00	\$8.00	\$160.00	\$8.00	\$160.00	\$8.00	\$160.00	\$8.50	\$170.00
28	75,487	LF	Thermoplastic Traffic Stripe Extruded (Detail 5)	\$ 1.00	\$ 75,487.00	\$0.80	\$60,389.60	\$0.80	\$60,389.60	\$0.85	\$64,163.95	\$0.80	\$60,389.60	\$0.80	\$60,389.60	\$0.80	\$60,389.60	\$0.85	\$64,163.95
29	19,356	LF	Thermoplastic Traffic Stripe Extruded (Detail 18)	\$ 2.00	\$ 38,712.00	\$1.60	\$30,969.60	\$1.60	\$30,969.60	\$1.75	\$33,873.00	\$1.60	\$30,969.60	\$1.60	\$30,969.60	\$1.60	\$30,969.60	\$1.65	\$31,937.40
30	7,856	LF	Thermoplastic Traffic Stripe Extruded (Detail 21)	\$ 2.00	\$ 15,712.00	\$1.80	\$14,140.80	\$1.80	\$14,140.80	\$2.00	\$15,712.00	\$1.80	\$14,140.80	\$1.80	\$14,140.80	\$1.80	\$14,140.80	\$1.85	\$14,533.60
31	3,449	LF	Thermoplastic Traffic Stripe Extruded (Detail 22)	\$ 1.00	\$ 3,449.00	\$1.80	\$6,208.20	\$1.80	\$6,208.20	\$2.00	\$6,898.00	\$1.80	\$6,208.20	\$1.80	\$6,208.20	\$1.80	\$6,208.20	\$1.90	\$6,553.10
32	114,996	LF	Thermoplastic Traffic Stripe Extruded (Detail 27B)	\$ 1.50	\$ 172,494.00	\$1.00	\$114,996.00	\$1.00	\$114,996.00	\$1.10	\$126,495.60	\$1.00	\$114,996.00	\$1.00	\$114,996.00	\$1.00	\$114,996.00	\$1.00	\$114,996.00
33	1,265	LF	Thermoplastic Traffic Stripe Extruded (Detail 29)	\$ 1.50	\$ 1,897.50	\$3.60	\$4,554.00	\$3.60	\$4,554.00	\$4.00	\$5,060.00	\$3.60	\$4,554.00	\$3.60	\$4,554.00	\$3.60	\$4,554.00	\$3.80	\$4,807.00
34	2,588	LF	Thermoplastic Traffic Stripe Extruded (Detail 31)	\$ 1.50	\$ 3,882.00	\$3.60	\$9,316.80	\$3.60	\$9,316.80	\$4.00	\$10,352.00	\$3.60	\$9,316.80	\$3.60	\$9,316.80	\$3.60	\$9,316.80	\$3.80	\$9,834.40
35	7,287	LF	Thermoplastic Traffic Stripe Extruded (Detail 34A)	\$ 1.50	\$ 10,930.50	\$1.80	\$13,116.60	\$1.80	\$13,116.60	\$2.00	\$14,574.00	\$1.80	\$13,116.60	\$1.80	\$13,116.60	\$1.80	\$13,116.60	\$1.90	\$13,845.30
36	754	LF	Thermoplastic Traffic Stripe Extruded (Detail 38)	\$ 1.50	\$ 1,131.00	\$1.80	\$1,357.20	\$1.80		\$2.00	\$1,508.00	\$1.80	\$1,357.20	\$1.80	\$1,357.20	\$1.80	\$1,357.20	\$1.90	. ,
37	1,265	LF	Thermoplastic Traffic Stripe Extruded (Detail 38A)	\$ 1.50	\$ 1,897.50	\$1.80	\$2,277.00	\$1.80	\$2,277.00	\$2.00	\$2,530.00	\$1.80	\$2,277.00	\$1.80	\$2,277.00	\$1.80	\$2,277.00	\$1.90	\$2,403.50
38	14,362	LF	Paint Traffic Stripe (Detail 39)	\$ 1.50	\$ 21,543.00	\$1.00	\$14,362.00	\$1.00	\$14,362.00	\$1.10	\$15,798.20	\$1.00	\$14,362.00	\$1.00	\$14,362.00	\$1.00	\$14,362.00	\$1.00	\$14,362.00
39	2,400	LF	Paint Traffic Stripe (Detail 39A)	\$ 1.50	\$ 3,600.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.10	\$2,640.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00
40	870	SF	Thermoplastic Pavement Marking (Limit Line)	\$ 5.00	\$ 4,350.00	\$7.00	\$6,090.00	\$7.00	\$6,090.00	\$7.50	\$6,525.00	\$7.00	\$6,090.00	\$7.00	\$6,090.00	\$7.00	\$6,090.00	\$7.00	\$6,090.00
41	635	SF	Thermoplastic Pavement Marking (White Cross Walk)	\$ 5.00	\$ 3,175.00	\$7.00	\$4,445.00	\$7.00	\$4,445.00	\$7.50	\$4,762.50	\$7.00	\$4,445.00	\$7.00	\$4,445.00	\$7.00	\$4,445.00	\$7.00	\$4,445.00
42	376	SF	Thermoplastic Pavement Marking (Railroad Crossing)	\$ 5.00	\$ 1,880.00	\$8.00	\$3,008.00	\$8.00	\$3,008.00	\$8.50	\$3,196.00	\$8.00	\$3,008.00	\$8.00	\$3,008.00	\$8.00	\$3,008.00	\$8.00	\$3,008.00
43	666	SF	Thermoplastic Pavement Marking (Stop Ahead)	\$ 5.00	\$ 3,330.00	\$8.00	\$5,328.00	\$8.00	\$5,328.00	\$8.50	\$5,661.00	\$8.00	\$5,328.00	\$8.00	\$5,328.00	\$8.00	\$5,328.00	\$8.00	\$5,328.00
44	97	SF	Thermoplastic Pavement Marking (Stop)	\$ 5.00	\$ 485.00	\$8.00	\$776.00	\$8.00	\$776.00	\$8.50	\$824.50	\$8.00	\$776.00	\$8.00	\$776.00	\$8.00	\$776.00	\$8.00	\$776.00
45	112	SF	Paint Pavement Marking (Bike Lane with Person)	\$ 4.00	\$ 448.00	\$25.00	\$2,800.00	\$25.00	\$2,800.00	\$26.50	\$2,968.00	\$25.00	\$2,800.00	\$25.00	\$2,800.00	\$25.00	\$2,800.00	\$25.00	\$2,800.00
46	194	SF	Paint Pavement Marking (Bike Lane Arrow)	\$ 4.00	\$ 776.00	\$25.00	\$4,850.00	\$25.00	\$4,850.00	\$26.50	\$5,141.00	\$25.00	\$4,850.00	\$25.00	\$4,850.00	\$25.00	\$4,850.00	\$25.00	\$4,850.00
47	720	SF	Thermoplastic Pavement Marking (Type IV Arrow)	\$ 5.00	\$ 3,600.00	\$8.00	\$5,760.00	\$8.00	\$5,760.00	\$8.50	\$6,120.00	\$8.00	\$5,760.00	\$8.00	\$5,760.00	\$8.00	\$5,760.00	\$8.00	\$5,760.00
48	2	EA	Replace Curb Ramp	\$ 2,000.00	\$ 4,000.00	\$8,000.00	\$16,000.00	\$8,000.00	\$16,000.00	\$8,000.00	\$16,000.00	\$6,000.00	\$12,000.00	\$10,000.00	\$20,000.00	\$10,500.00	\$21,000.00	\$7,500.00	\$15,000.00
49	4,706	SY	Miscellaneous Areas	\$ 12.00	\$ 56,472.00	\$5.00	\$23,530.00	\$69.00	\$324,714.00	\$12.00	\$56,472.00	\$8.00	\$37,648.00	\$18.00	\$84,708.00	\$25.00	\$117,650.00	\$17.00	\$80,002.00
			TOTAL BASE BID (ITEMS 1-49)	\$13,961	,858.00	\$13,358	8,577.05	\$15,059	,885.00	\$15,419,	068.15	\$15,544	726.67	\$15,862	2,625.75	\$16,62	2,454.75	\$17,1	20,576.00

Bid Summary Fresno County Department of Public Works and Planning

CAL Valley Construction, Inc.

Yarbs Grading and Paving, Inc.

1 Yarbs Grading and Paving, Inc., 11339 S. DeWolf Avenue, Fresno, CA 93725

Subcontractors Safety Striping Service, Inc. Talley Oil, Inc. Statewide Safety Systems contractors Subcontractors Subcontractors Subcontractors 2 Emmett's Excavation, Inc., 1477 Menlo Ave, Clovis, CA 93611
3 Agee Construction Corporation, 1039 Hoblitt Avenue, Clovis, CA 93612 Asphalt Dike Construction, In Talley Oil, Inc Safety Striping Service, Inc. ANRAK CORPORATION Safety Striping Service, Inc Safety Striping Service, Inc. Talley Oil fety Striping Service 4 CAL Valley Construction, Inc., 5125 N. Gates Avenue, Suite 102, Fresno, CA 93722 Falley Oil Inc ement Recycling Systems Inc. stewicle Safety System 5 Teichert 400 Sunriee Ave - Suite 300 Possville CA 95661 rinity Engineering Laboratories Inc Teller Oil Inc 5 Teicnert, 400 Sunnise AVE; Suite 300, Rosevine, CA 93661 6 Granite Construction Company, 2716 Granite Court, Fresno, CA 93706 7 Avison Construction, Inc., 40434 Brickyard Dr., Madera, CA 93636 ewide Traffic Safety and Signs. Inc. dba Statewide Saf Additive 1 (Location 11A - CSA 35 "AS" Dogwood) Engineer's Estimate ESTIMATED UNIT OF ITEM PRICE TOTAL PRICE ITEM PRICE TOTAL PRICE ITEM PRICE TOTAL PRICE TOTAL PRICE TOTAL PRICE ITEM ITEM PRICE (IN FIGURES) TOTAL PRICE (IN FIGURES) ITEM PRICE ITEM PRICE TOTAL PRICE ITEM PRICE (IN FIGURES) TOTAL PRICE (IN FIGURES) ITEM PRICE ITEM DESCRIPTION QUANTITY (IN FIGURES) (IN FIGURES) 50 LS Mobilization 10 000 00 \$ 10 000 0 \$12,000,00 \$12,000.0 \$30,000,00 \$30,000,0 \$51,900,00 \$51,900,00 \$30,000,00 \$30,000,0 \$110,000,00 \$110,000,0 \$120,000,00 \$120,000,0 \$5,000,00 \$5,000,00 51 1.00 \$ 30,740.00 \$1.00 \$30,740.00 \$1.00 \$30,740.00 \$1.00 \$30,740.00 \$1.00 \$30,740.00 \$1.00 \$30,740.00 \$1.00 \$30,740.00 \$1.00 \$30,740.00 30.740 Supplemental Work (Payment Adjustment for Price Index Fluctuations) \$ 52 5,000 Supplemental Work 1.00 \$ 5 000 0 \$1.00 \$5,000.0 \$1.00 \$5,000.00 \$1.00 \$5,000.00 \$1.00 \$5,000,00 \$1.00 \$5,000,00 \$1.00 \$5,000,00 \$1.00 \$5,000.00 53 LS Traffic Control System 20.000.00 \$ 20 000 00 \$20,000,00 \$20,000,0 \$49 000 00 \$49 000 00 \$40 700 00 \$40 700 00 \$50,000,00 \$50,000,00 \$41 900 00 \$41 900 00 \$200,000,00 \$200,000,00 \$30,000,00 \$30,000.00 54 2.500.00 \$ 2.500.00 \$2,000.00 \$2,000.00 \$1,000,00 \$1,000.00 \$500.00 \$500.00 \$1,000.00 \$1,000.00 \$5,000.00 \$5,000.00 \$2,250.00 \$2,250.00 \$100.00 \$100.00 LS Job Site Management \$200.00 55 LS Prepare & Implement WPCP 1,000.00 \$ 1,000.00 \$2,500.00 \$2,500.00 \$1,000.00 \$1,000.00 \$5,000.00 \$5,000.00 \$200.00 \$5,200.00 \$5,200.00 \$1.00 \$1.00 \$400.00 \$400.00 56 45 CY Remove Asphalt Concrete Pavement 20.00 \$ ann nn \$500.00 \$22 500 00 \$550.00 \$24.750.00 \$540.00 \$24,300.00 \$300.00 \$13 500 00 \$580.00 \$26,100,00 \$555.00 \$24,975.00 \$500.00 \$22,500.00 57 1.000.00 \$ 1.000.00 \$10,000.00 \$10.000.0 \$6.800.00 \$50.000.00 \$26,400.00 LS Clearing And Grubbing \$12,000.00 \$12,000.00 \$6,800.00 \$50,000.00 \$21,000.00 \$21,000.00 \$26,400.00 \$2,000,00 \$2,000.00 58 222 SY Cold Plane Asphalt Concrete Pavement 20.00 \$ 4,440.00 \$10.00 \$2,220.00 \$44.00 \$9,768.00 \$24.00 \$5,328.00 \$80.00 \$17,760.00 \$25.00 \$5,550.00 \$38.00 \$8 436 00 \$65.00 \$14,430.00 59 5,589 TON 110.00 \$ 614,790.00 \$110.00 \$614 790 0 \$135.00 \$754,515.00 \$130.00 \$726,570.00 \$145.00 \$810,405.00 \$131.00 \$732,159.00 \$111.00 \$620,379.00 \$135.00 \$754,515.00 Hot Mix Asphalt (Type A 3/4" Grading) Pg64-28 60 26 TON Minor Hot Mix Asphalt 125 00 \$ 3 250 00 \$150.00 \$3,900,0 \$215.00 \$5 590 00 \$168.00 \$4 368 00 \$200.00 \$5,200,00 \$440.00 \$11 440 00 \$175.00 \$4,550,00 \$115.00 \$2,990,00 61 800.00 \$ 5,600.00 \$600.00 \$4,200.00 \$750.00 \$5,250.00 \$3,000.00 \$21,000.00 \$1.00 \$7.00 \$3,100.00 \$21,700.00 \$3,575.00 \$25,025.00 \$1,000.00 \$7,000.00 7 TON Tack Coat 62 980 Place Hot Mix Asphalt Dike (Type E) Case-R 30.00 \$ 29,400.00 \$5.00 \$4,900.00 \$6.00 \$5,880.00 \$12.40 \$12,152.00 \$10.00 \$9,800.00 \$4.00 \$3,920.00 \$4.50 \$4,410.00 \$20.00 \$19,600.00 63 ΕΛ. Adjust Valve Box Frame and Cover To Grade 2 000 00 \$ 14 000 00 \$1,000,00 \$7,000,00 \$1,000,00 \$7 000 00 \$1,400,00 ¢o enn no \$1.210.72 \$9.539.1 \$1 100 00 \$7.700.00 \$075.00 \$6 925 nn 6800 00 \$5 600 00 64 4 FΔ Adjust Survey Monuments to Grade (Type D) 1,000,00 \$ 4 000 00 \$800.00 \$3,200,00 \$1.700.00 \$6.800.00 \$1.850.00 \$7,400,00 \$1 104 07 \$4.416.28 \$1,000,00 \$4,000,00 \$975.00 \$3,900,00 \$1.100.00 \$4.400.00 65 35.00 \$ 53,655.00 \$10.00 \$15,330.00 \$62.00 \$95,046.00 \$70.00 \$107,310.00 \$92.75 \$142,185.75 \$80.00 \$122,640.00 \$130.00 \$199,290.00 \$90.00 \$137,970.00 1 533 CY Shoulder Backing 66 LS Finishing Roadway 2,000.00 \$ 2.000.0 \$3.000.00 \$3,000.0 \$2,000.00 \$2,000.00 \$26,750.00 \$26,750.00 \$4,480.55 \$4,480.55 \$21,100.00 \$21,100.00 \$1.00 \$1.00 \$2,500.00 \$2,500.00 67 6 CY Import Borrow 80 00 \$ 480.00 \$50.00 \$300.0 \$200.00 \$1 200 00 \$200.00 \$1.200.00 \$373.38 \$2.240.28 \$800.00 \$4.800.00 \$90.00 \$540.00 \$125.00 \$750.00 68 CY 80.00 \$ 480.00 \$50.00 \$300.00 \$1,200.00 \$4,200.00 \$373.38 \$2,240.28 \$400.00 \$2,400.00 \$1,692.00 \$350.00 \$2,100.00 Embankment \$200.00 \$700.00 \$282.00 \$803 235 00 \$763,880.00 \$1.187.713.25 \$1,284,414,00 TOTAL ADDITIVE LOCATION (CSA 35 AS) (ITEMS 50-68) \$1.047.739.00 \$1.091.018.00 \$1.182.349.00 \$1.047.595.00

Additi	ve 2 (Location	2 (Location 12A - CSA 35 "AG" Wild Rose)			Estimate		1	2		3		4			5		6		7
ITEM NO.	ESTIMATED QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)														
69	1	LS	Mobilization	\$ 10,000.00	\$ 10,000.00	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$4,600.00	\$4,600.00	\$5,000.00	\$5,000.00
70	2,024	\$	Supplemental Work (Payment Adjustment for Price Index Fluctuations)	\$ 1.00	\$ 2,024.00	\$1.00	\$2,024.00	\$1.00	\$2,024.00	\$1.00	\$2,024.00	\$1.00	\$2,024.00	\$1.00	\$2,024.00	\$1.00	\$2,024.00	\$1.00	\$2,024.00
71	5,000	\$	Supplemental Work	\$ 1.00	\$ 5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
72	1	LS	Traffic Control System	\$ 20,000.00	\$ 20,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00	\$33,000.00	\$33,000.00	\$26,000.00	\$26,000.00	\$8,000.00	\$8,000.00
73	1	LS	Job Site Management	\$ 2,500.00	\$ 2,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$2,633.65	\$2,633.65	\$3,000.00	\$3,000.00	\$650.00	\$650.00	\$100.00	\$100.00
74	1	LS	Prepare & Implement WPCP	\$ 1,000.00	\$ 1,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$217.16	\$217.16	\$6,200.00	\$6,200.00	\$1.00	\$1.00	\$400.00	\$400.00
75	122	CY	Replace Asphalt Concrete Pavement	\$ 300.00	\$ 36,600.00	\$230.00	\$28,060.00	\$382.00	\$46,604.00	\$416.00	\$50,752.00	\$560.75	\$68,411.50	\$415.00	\$50,630.00	\$415.00	\$50,630.00	\$400.00	\$48,800.00
76	368	TON	Hot Mix Asphalt (Type A 3/4" Grading) Pg64-28	\$ 110.00	\$ 40,480.00	\$110.00	\$40,480.00	\$147.00	\$54,096.00	\$155.00	\$57,040.00	\$166.40	\$61,235.20	\$150.00	\$55,200.00	\$159.00	\$58,512.00	\$175.00	\$64,400.00
77	5	TON	Minor Hot Mix Asphalt	\$ 125.00	\$ 625.00	\$150.00	\$750.00	\$280.00	\$1,400.00	\$168.00	\$840.00	\$378.40	\$1,892.00	\$1,000.00	\$5,000.00	\$346.00	\$1,730.00	\$135.00	\$675.00
78	1	TON	Tack Coat	\$ 800.00	\$ 800.00	\$600.00	\$600.00	\$750.00	\$750.00	\$530.00	\$530.00	\$2,733.76	\$2,733.76	\$3,200.00	\$3,200.00	\$745.00	\$745.00	\$1,000.00	\$1,000.00
79	2,395	SQYD	Geosynthetic Pavement Interlayer (Paving Mat)	\$ 5.00	\$ 11,975.00	\$3.80	\$9,101.00	\$4.00	\$9,580.00	\$4.40	\$10,538.00	\$3.75	\$8,981.25	\$3.75	\$8,981.25	\$3.75	\$8,981.25	\$4.00	\$9,580.00
80	3	TON	Asphalt Binder (Geosynthetic Pavement Interlayer)	\$ 500.00	\$ 1,500.00	\$1.00	\$3.00	\$1.00	\$3.00	\$1.10	\$3.30	\$1.00	\$3.00	\$1.00	\$3.00	\$1.00	\$3.00	\$1.00	\$3.00
81	180	LF	Place Hot Mix Asphalt Dike (Type E) Case-R	\$ 30.00	\$ 5,400.00	\$5.00	\$900.00	\$30.00	\$5,400.00	\$23.00	\$4,140.00	\$34.61	\$6,229.80	\$6.00	\$1,080.00	\$24.00	\$4,320.00	\$9.00	\$1,620.00
82	4	EA	Adjust Valve Box Frame and Cover To Grade	\$ 2,000.00	\$ 8,000.00	\$1,000.00	\$4,000.00	\$1,000.00	\$4,000.00	\$1,475.00	\$5,900.00	\$1,300.00	\$5,200.00	\$1,100.00	\$4,400.00	\$975.00	\$3,900.00	\$800.00	\$3,200.00
83	2	EA	Adjust Survey Monuments to Grade (Type D)	\$ 1,000.00	\$ 2,000.00	\$800.00	\$1,600.00	\$1,700.00	\$3,400.00	\$1,775.00	\$3,550.00	\$1,300.00	\$2,600.00	\$1,000.00	\$2,000.00	\$975.00	\$1,950.00	\$1,100.00	\$2,200.00
84	93	CY	Shoulder Backing	\$ 35.00	\$ 3,255.00	\$20.00	\$1,860.00	\$150.00	\$13,950.00	\$32.00	\$2,976.00	\$100.00	\$9,300.00	\$93.00	\$8,649.00	\$155.00	\$14,415.00	\$130.00	\$12,090.00
85	1	LS	Finishing Roadway	\$ 2,000.00	\$ 2,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$3,200.00	\$3,200.00	\$1,000.00	\$1,000.00	\$6,300.00	\$6,300.00	\$1.00	\$1.00	\$1,500.00	\$1,500.00
86	30	SY	Cold Plane Asphalt Concrete Pavement	\$ 20.00	\$ 600.00	\$10.00	\$300.00	\$110.00	\$3,300.00	\$175.00	\$5,250.00	\$300.00	\$9,000.00	\$205.00	\$6,150.00	\$236.00	\$7,080.00	\$200.00	\$6,000.00
	TOTAL ADDITIVE LOCATION (CSA 35 AG) (ITEMS 69-86)			\$153,7	59.00	\$115	,178.00	\$178,5	07.00	\$182,74	13.30	\$236,4	61.32	\$220,	817.25	\$190,	542.25	\$171,	,592.00

Bid Summary Fresno County Department of Public Works and Planning

2 En 3 Ag 4 C/ 5 Te 6 Gr	nmett's Excava gee Construction AL Valley Constichert, 400 Sur- ranite Construc-	ation, Inc., 14 on Corporation struction, Inc. nrise Ave.; Su ction Compar	Ic., 11339 S. DeWolf Avenue, Freeno, CA 93728 177 Menlo Ave, Clovis, CA 93811 on, 1939 Hobbit Avenue, Crivis, CA 93812 on, 1939 H. Gates Avenue, Suite 102, Freeno, CA 93722 ulte 309, Roseville, CA 93681 ulte 309, Roseville, CA 93681 M. Ziris Garnille Courf, Freeno, CA 93706 434 Bricklyard Dr., Madera, CA 93836		Yarbs Grading and Paving, Inc. Subcontractors Subcontractors Subcontractors Subcontractors Subcontractors Subcontractors Subcontractors Sates of Service Subcontractors Sates of Service Subcontractors Tarby Cli Inc. Subcontractors Sates Subcontractors Tarby Cli Inc. Subcontractors Subcontractors Tarby Cli Inc. Subcontractors Tarby Cli Inc. Subcontractors Tarby Cli Inc. Subcontractors Tarby Cli Inc. Tarby Caractiffing Inc. Tarbic Loops Cractiffing Inc.			Subcontraction Corporation Subcontractors Su			Teichert Subconfractore Aspiral Dile Construction, Inc. dea APCO Talley OL Inc Sulfry Stripps Service, Inc. ANRUAK CORPORATION		Granite Construction Company Subcontractors Asphal Disa Construction, Inc. das APCO Safely Sirging Service, Inc. Payment Recycling System, Inc. Talery Cl. Inc. Stateward Recycling System, Inc. cha Stateward Safely and Signs, Inc. cha Stateward Safely		Avison Construction, Inc. Subcontractors				
Additive	3 (Location	13A - CSA	35 "AK" Woody Lane)	Engineer	's Estimate	1	1	2		3 4		ļ		5	6			7	
	ESTIMATED QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)
87	1		Mobilization	\$ 10,000.00	\$ 10,000.00	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$4,600.00	\$4,600.00	\$5,000.00	\$5,000.00
88	1,947 5,000		Supplemental Work (Payment Adjustment for Price Index Fluctuations) Supplemental Work	\$ 1.00 \$ 1.00		\$1.00 \$1.00	\$1,947.00 \$5,000.00	\$1.00 \$1.00	\$1,947.00 \$5,000.00	\$1.00 \$1.00	\$1,947.00 \$5,000.00	\$1.00 \$1.00	\$1,947.00 \$5,000.00	\$1.00 \$1.00	\$1,947.00 \$5,000.00	\$1.00 \$1.00	\$1,947.00 \$5,000.00	\$1.00 \$1.00	\$1,947.00 \$5,000.00
90	1		Traffic Control System	\$ 10,000.00	\$ 10,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$14,900.00	\$14,900.00	\$40,000.00	\$40,000.00	\$15,500.00	\$15,500.00	\$23,000.00	\$23,000.00	\$7,500.00	\$7,500.00
91	1		Job Site Management	\$ 2,500.00	-,	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$3,200.00	\$3,200.00	\$640.00	\$640.00	\$100.00	\$100.00
92	1	LS	Prepare & Implement WPCP	\$ 1,000.00	\$ 1,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$200.00	\$200.00	\$5,500.00	\$5,500.00	\$1.00	\$1.00	\$400.00	\$400.00
93	56 354		Cold Plane Asphalt Concrete Pavement Hot Mix Asphalt (Type A 3/4" Grading) Pg64-28	\$ 20.00 \$ 110.00	\$ 1,120.00 \$ 38.940.00	\$10.00 \$110.00	\$560.00 \$38.940.00	\$44.00 \$139.00	\$2,464.00 \$49,206.00	\$95.50 \$155.00	\$5,348.00 \$54.870.00	\$150.00 \$150.00	\$8,400.00 \$53,100.00	\$100.00 \$158.00	\$5,600.00 \$55,932.00	\$35.00 \$170.00	\$1,960.00 \$60.180.00	\$100.00 \$175.00	\$5,600.00 \$61,950.00
95	46	TON	Minor Hot Mix Asphalt	\$ 125.00	\$ 5,750.00	\$150.00	\$6,900.00	\$148.00	\$6,808.00	\$168.00	\$7,728.00	\$160.00	\$7,360.00	\$210.00	\$9,660.00	\$172.00	\$7,912.00	\$175.00	\$6,210.00
96	3	TON	Tack Coat	\$ 800.00	\$ 2,400.00	\$600.00	\$1,800.00	\$750.00	\$2,250.00	\$530.00	\$1,590.00	\$1.00	\$3.00	\$3,200.00	\$9,600.00	\$785.00	\$2,355.00	\$1,000.00	\$3,000.00
97	1,740		Place Hot Mix Asphalt Dike (Type E) Case-R	\$ 30.00		\$5.00	\$8,700.00	\$4.00	\$6,960.00	\$6.50	\$11,310.00	\$10.00	\$17,400.00	\$4.00	\$6,960.00	\$6.00	\$10,440.00	\$8.00	\$13,920.00
98 99	2		Adjust Valve Box Frame and Cover to Grade	\$ 2,000.00 \$ 1,000.00	\$ 4,000.00 \$ 4,000.00	\$1,000.00 \$800.00	\$2,000.00 \$3,200.00	\$1,000.00 \$1,700.00	\$2,000.00 \$6,800.00	\$1,475.00 \$1,775.00	\$2,950.00 \$7,100.00	\$1,300.00 \$1,300.00	\$2,600.00 \$5,200.00	\$1,100.00 \$1,000.00	\$2,200.00 \$4,000.00	\$975.00 \$975.00	\$1,950.00 \$3,900.00	\$800.00 \$1.100.00	\$1,600.00 \$4,400.00
100	3		Adjust Survey Monuments to Grade (Type D) Adjust Overside Drain	\$ 1,000.00 \$ 1,000.00	\$ 4,000.00 \$ 3,000.00	\$800.00	\$3,200.00 \$3,600.00	\$1,700.00	\$6,800.00	\$1,775.00 \$1,150.00	\$7,100.00 \$3,450.00	\$1,300.00 \$1,300.00	\$5,200.00	\$1,000.00	\$4,000.00	\$975.00 \$500.00	\$3,900.00	\$1,100.00	\$4,400.00
101	1	LS	Finishing Roadway	\$ 2,000.00	\$ 2,000.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$6,300.00	\$6,300.00	\$1.00	\$1,300.00	\$1,500.00	\$1,500.00
102	36	SQFT	Paint Stop Bar and Limit Line (2-Coat)	\$ 5.00	\$ 180.00	\$65.00	\$2,340.00	\$65.00	\$2,340.00	\$71.00	\$2,556.00	\$65.00	\$2,340.00	\$65.00	\$2,340.00	\$65.00	\$2,340.00	\$65.00	\$2,340.00
103	03 93 CY Shoulder Backing \$ 3				\$ 3,255.00	\$20.00	\$1,860.00	\$100.00	\$9,300.00	\$80.00	\$7,440.00	\$100.00	\$9,300.00	\$93.00	\$8,649.00	\$156.00	\$14,508.00	\$130.00	\$12,090.00
	т	OTAL ADD	DITIVE LOCATION (CSA 35 AK) (ITEMS 87-103)	\$147,	292.00	\$97,	347.00	\$127,0	75.00	\$143,1	89.00	\$168,7	50.00	\$158,	\$158,988.00 \$142,234.00		\$138,557.00		
Additive	4 (Location	14A - Braw	vley Avenue)	Engineer	's Estimate	1		2 3			4			5	6			7	
	ESTIMATED QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)
104	5,000	\$	Supplemental Work (Payment Adjustment for Price Index Fluctuations)	\$ 1.00	\$ 5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
105	1		Traffic Control System	\$ 5,000.00	\$ 5,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$8,300.00	\$8,300.00	\$20,000.00	\$20,000.00	\$19,500.00	\$19,500.00	\$28,500.00	\$28,500.00	\$7,500.00	\$7,500.00
106	202		Shoulder Backing	\$ 75.00		\$20.00	\$4,040.00 \$82.390.00	\$50.00	\$10,100.00 \$77.147.00	\$62.50	\$12,625.00 \$78.645.00	\$35.00	\$7,070.00 \$74.900.00	\$50.00	\$10,100.00 \$99.617.00	\$42.00	\$8,484.00 \$86.135.00	\$70.00 \$90.00	\$14,140.00 \$67.410.00
107	749 1		Hot Mix Asphalt (Type A 3/4" Grading) Minor Hot Mix Asphalt	\$ 100.00 \$ 500.00		\$110.00 \$150.00	\$82,390.00 \$150.00	\$103.00 \$950.00	\$77,147.00	\$105.00 \$530.00	\$78,645.00	\$100.00 \$1.300.00	\$1,300.00	\$133.00 \$2.500.00	\$99,617.00	\$115.00 \$2,300.00	\$86,135.00	\$200.00	\$67,410.00
109	1	TON	Tack Coat	\$ 800.00	\$ 800.00	\$600.00	\$600.00	\$750.00	\$750.00	\$530.00	\$530.00	\$1.00	\$1.00	\$3,200.00	\$3,200.00	\$3,385.00	\$3,385.00	\$1,000.00	\$1,000.00
110	323	SY	Cold Plane Asphalt Concrete Pavement	\$ 3.00	\$ 969.00	\$10.00	\$3,230.00	\$20.00	\$6,460.00	\$16.50	\$5,329.50	\$9.00	\$2,907.00	\$18.00	\$5,814.00	\$40.00	\$12,920.00	\$14.00	\$4,522.00
111	1		Replace Curb Ramp (ADA Curb Ramp)	\$ 2,000.00	. ,	\$8,000.00	\$8,000.00	\$9,000.00	\$9,000.00	\$7,630.00	\$7,630.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$7,500.00	\$7,500.00
112	690 650	LF LF	Thermoplastic Traffic Stripe Extruded (Detail 5) Thermoplastic Traffic Stripe Extruded (Detail 22)	\$ 1.00 \$ 1.50		\$3.00 \$5.00	\$2,070.00 \$3,250.00	\$3.00 \$5.00	\$2,070.00 \$3,250.00	\$3.20 \$5.30	\$2,208.00 \$3.445.00	\$3.00 \$5.00	\$2,070.00 \$3.250.00	\$3.00 \$5.00	\$2,070.00 \$3.250.00	\$3.00 \$5.00	\$2,070.00 \$3,250.00	\$3.00 \$5.00	\$2,070.00 \$3,250.00
113	12		Thermoplastic Tranic Stripe Extruded (Jetali 22) Thermoplastic Pavement Marking (Limit Line)	\$ 1.50		\$30.00	\$3,250.00	\$5.00	\$3,250.00	\$33.00	\$3,445.00	\$30.00	\$3,250.00	\$30.00	\$3,250.00	\$30.00	\$3,250.00	\$5.00	\$3,250.00
115	53	SF	Thermoplastic Pavement Marking (Stop Ahead)	\$ 5.00		\$40.00	\$2,120.00	\$40.00	\$2,120.00	\$42.00	\$2,226.00	\$40.00	\$2,120.00	\$40.00	\$2,120.00	\$40.00	\$2,120.00	\$40.00	\$2,120.00
116	53	SF	Remove Thermoplastic Pavement Marking	\$ 0.50	\$ 26.50	\$45.00	\$2,385.00	\$45.00	\$2,385.00	\$48.00	\$2,544.00	\$45.00	\$2,385.00	\$45.00	\$2,385.00	\$45.00	\$2,385.00	\$45.00	\$2,385.00
117	1		Mobilization	\$ 5,000.00		\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$50,000.00	\$50,000.00	\$18,500.00	\$18,500.00	\$3,600.00	\$3,600.00	\$100.00	\$100.00
118	261 4	SY	Place Miscellaneous Areas Asphalt Binder (Geosynthetic Pavement Interlayer)	\$ 12.00 \$ 500.00	\$ 3,132.00 \$ 2.000.00	\$5.00 \$1.00	\$1,305.00 \$4.00	\$70.00 \$1.00	\$18,270.00 \$4.00	\$30.00 \$1.00	\$7,830.00 \$4.00	\$15.00 \$1.00	\$3,915.00 \$4.00	\$30.00 \$1.00	\$7,830.00 \$4.00	\$30.00 \$1.00	\$7,830.00 \$4.00	\$10.00 \$1.00	\$2,610.00 \$4.00
120	3,520		Geosynthetic Pavement Interlayer (Paving Mat)	\$ 3.00		\$3.10	\$10,912.00	\$3.10	\$10,912.00	\$3.80	\$13,376.00	\$3.10	\$10,912.00	\$1.00	\$13,200.00	\$3.10	\$10,912.00	\$3.10	\$10,912.00
121	4		Survey Monuments (Type D)	\$ 1,500.00	\$ 6,000.00	\$800.00	\$3,200.00	\$1,700.00	\$6,800.00	\$1,775.00	\$7,100.00	\$1,300.00	\$5,200.00	\$1,000.00	\$4,000.00	\$975.00	\$3,900.00	\$1,100.00	\$4,400.00
		TOTAL	ADDITIVE LOCATION 14A (ITEMS 104-121)	\$133,	027.50	\$149	016.00	\$175,5	78.00	\$169,7	18.50	\$197,3	94.00	\$209,	450.00	\$192,0	655.00	\$135	5,483.00
																		-	
Additive	5 (Survey N	Monument V	Well Installations)	Engineer	's Estimate	1	1	2		3		4			5		ò		7
NO.	ESTIMATED QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)
122	12		Traffic Control (Per Road Segment)	\$ 5,000.00	\$ 60,000.00	\$1,500.00	\$18,000.00	\$9,200.00	\$110,400.00	\$5,500.00	\$66,000.00	\$3,000.00	\$36,000.00	\$2,000.00	\$24,000.00	\$5,910.00	\$70,920.00	\$2,000.00	\$24,000.00
123	12 73		Job Site Management (Per Road Segment) Survey Monument (Type D)	\$ 1,500.00 \$ 1,500.00	\$ 18,000.00 \$ 109,500.00	\$300.00 \$800.00	\$3,600.00 \$58,400.00	\$1,100.00 \$1,700.00	\$13,200.00 \$124,100.00	\$70.00 \$1,500.00	\$840.00 \$109,500.00	\$200.00 \$2,000.00	\$2,400.00 \$146,000.00	\$750.00 \$900.00	\$9,000.00 \$65,700.00	\$360.00 \$1,295.00	\$4,320.00 \$94,535.00	\$10.00 \$1,100.00	\$120.00 \$80,300.00
124	1	LS	Prepare And Implement WPCP	\$ 1,500.00	\$ 2,500.00	\$1,000.00	\$58,400.00	\$1,700.00	\$1,000.00	\$1,500.00	\$109,500.00	\$2,000.00	\$146,000.00	\$900.00	\$65,700.00	\$1,295.00	\$94,535.00	\$1,100.00	\$80,300.00
126	12	EA	Mobilization (Per Road Segment)	\$ 5,000.00	\$ 60,000.00	\$500.00	\$6,000.00	\$1,500.00	\$18,000.00	\$1,000.00	\$12,000.00	\$2,000.00	\$24,000.00	\$900.00	\$10,800.00	\$450.00	\$5,400.00	\$100.00	\$1,200.00
	TOTAL ADDITIVE Survey Monuments (ITEMS 122 THROUGH 126) \$250,000.00			000.00	\$87,	000.00	\$266,7	00.00	\$188,840.00 \$208,600.00		00.00	\$111,500.00		\$175,1	176.00	\$105	5,630.00		
1	IOIA	L ADDITIV				\$07,000.00		¥200,000.00		,		¥,		Ţ 2,000.00					
Щ	IOIAI	L ADDITIV														<u>.</u>		<u> </u>	

Contract Number 23-07-M Road Maintenance and Rehabilitation Account (SB-1) Asphalt Concrete Overlays

Engineer's Estimate: \$15,449,171.50

Bidder	Bid Amount
Yarbs Grading and Paving, Inc.	\$14,570,998.05
Emmett's Excavation, Inc.	\$16,855,484.00
Agee Construction Corporation	\$17,194,576.95
Cal Valley Construction, Inc.	\$17,543,645.24
Teichert Construction	\$17,745,730.00
Granite Construction Company	\$18,607,476.00
Avison Construction, Inc.	\$18,719,433.00

Bidder Information:

Yarbs Grading and Paving, Inc. - 11339 S. DeWolf Avenue, Fresno, CA 93725 Subcontractors: Statewide Safety, Talley Oil, Inc., Safety Striping Service, Trinity Engineering Laboratories, Inc., Fresno Concrete Construction

Emmett's Excavation, Inc. - 1477 Menlo Ave, Clovis, CA 93611 Subcontractors: Safety Striping Service, Inc., Talley Oil, Inc., Statewide Safety Systems, Traffic Loops Crackfilling, Inc.

Agee Construction Corporation - 1039 Hoblitt Avenue, Clovis, CA 93612 Subcontractors: Safety Striping Service, Pacific Northwest Oil

Cal Valley Construction, Inc. - 5125 N. Gates Avenue, Suite 102, Fresno, CA 93722 Subcontractors: Statewide Safety Systems, Safety Striping Service, Inc., Talley Oil, Inc.

Teichert Construction - 400 Sunrise Ave.; Suite 300, Roseville, CA 95661 Subcontractors: Asphalt Dike Construction, Inc. dba APCO, Talley Oil, Inc., Safety Striping Service, Inc., Anrak Corporation

Granite Construction Company - 2716 Granite Court, Fresno, CA 93706 Subconsultants: Asphalt Dike Construction, Inc. dba APCO, Safety Striping Service, Inc., Pavement Recycling Systems, Inc., Talley Oil, Inc., Statewide Traffic Safety and Signs, Inc. dba Statewide Safety

Avison Construction, Inc. - 40434 Brickyard Dr., Madera, CA 93636 Subconsultants: Safety Striping Service, Talley Oil, Statewide Safety Systems

Item No.	Quantity	Unit	Item Description	Item Price	Extension
1	1	LS	MOBILIZATION	\$1,200,000.00	\$1,200,000.00
2	500,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$500,000.00
3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$1,000.00	\$8,000.00
5	1	LS	TRAFFIC CONTROL SYSTEM	\$312,000.00	\$312,000.00
6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$1,500.00	\$6,000.00
7	1	LS	JOB SITE MANAGEMENT	\$10,000.00	\$10,000.00
8	1	LS	PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN	\$2,000.00	\$2,000.00
9	1	LS	REMOVE PAVEMENT MARKERS	\$10,000.00	\$10,000.00
10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.55	\$128,866.65
11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.00	\$13,456.00
12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$300.00	\$810,000.00
13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$7.00	\$2,800.00
14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$5.00	\$96,950.00
15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$92.00	\$9,063,472.00
16	141	TON	MINOR HOT MIX ASPHALT	\$150.00	\$21,150.00
17	94	TON	TACK COAT	\$600.00	\$56,400.00
18	141,346	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$2.10	\$296,826.60
19	160	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$160.00
20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$4.00	\$18,320.00
				То	tal: \$13,358,577.05

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$800.00	\$46,400.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$1,200.00	\$14,400.00
23	24,095	CY	SHOULDER BACKING	\$11.00	\$265,045.00
24	1	LS	FINISHING ROADWAY	\$20,000.00	\$20,000.00
25	4,580	SF	PAINT DIKE 2-COAT	\$1.20	\$5,496.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.00	\$4,000.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.00	\$160.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.80	\$60,389.60
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.60	\$30,969.60
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$1.80	\$14,140.80
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$1.80	\$6,208.20
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.00	\$114,996.00
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$3.60	\$4,554.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$3.60	\$9,316.80
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$1.80	\$13,116.60
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$1.80	\$1,357.20
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$1.80	\$2,277.00
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.00	\$14,362.00
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.00	\$2,400.00
				Tota	al: \$13,358,577.05

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.00	\$6,090.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.00	\$4,445.00
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.00	\$3,008.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.00	\$5,328.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.00	\$776.00
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$25.00	\$2,800.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$25.00	\$4,850.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.00	\$5,760.00
48	2	EA	REPLACE CURB RAMP	\$8,000.00	\$16,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$5.00	\$23,530.00
				Tota	al: \$13,358,577.05

Yarbs Grading and Paving, Inc. - Additive 1 (Location 11A - CSA 35 "AS" Dogwood)

\$763,880.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag	ency may	y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$12,000.00	\$12,000.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$20,000.00	\$20,000.00
54	1	LS	JOB SITE MANAGEMENT	\$2,000.00	\$2,000.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$2,500.00	\$2,500.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$500.00	\$22,500.00
57	1	LS	CLEARING AND GRUBBING	\$10,000.00	\$10,000.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$10.00	\$2,220.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$110.00	\$614,790.00
60	26	TON	MINOR HOT MIX ASPHALT	\$150.00	\$3,900.00
61	7	TON	TACK COAT	\$600.00	\$4,200.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$5.00	\$4,900.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,000.00	\$7,000.00
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$800.00	\$3,200.00
65	1,533	CY	SHOULDER BACKING	\$10.00	\$15,330.00
66	1	LS	FINISHING ROADWAY	\$3,000.00	\$3,000.00
67	6	CY	IMPORT BORROW	\$50.00	\$300.00
68	6	CY	EMBANKMENT	\$50.00	\$300.00
					otal: \$763,880.00 otal: \$763,880.00

Yarbs Grading and Paving, Inc. - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$115,178.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$6,000.00	\$6,000.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$10,000.00	\$10,000.00
73	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
74	1	LS	PREPARE & IMPLEMENT WPCP	\$500.00	\$500.00
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$230.00	\$28,060.00
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$110.00	\$40,480.00
77	5	TON	MINOR HOT MIX ASPHALT	\$150.00	\$750.00
78	1	TON	TACK COAT	\$600.00	\$600.00
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.80	\$9,101.00
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$3.00
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$5.00	\$900.00
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,000.00	\$4,000.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$800.00	\$1,600.00
84	93	CY	SHOULDER BACKING	\$20.00	\$1,860.00
85	1	LS	FINISHING ROADWAY	\$3,000.00	\$3,000.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$10.00	\$300.00
					tal: \$115,178.00 tal: \$115,178.00

Yarbs Grading and Paving, Inc. - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$97,347.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$6,000.00	\$6,000.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$10,000.00	\$10,000.00
91	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$500.00	\$500.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$10.00	\$560.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$110.00	\$38,940.00
95	46	TON	MINOR HOT MIX ASPHALT	\$150.00	\$6,900.00
96	3	TON	TACK COAT	\$600.00	\$1,800.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$5.00	\$8,700.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,000.00	\$2,000.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$800.00	\$3,200.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$1,200.00	\$3,600.00
101	1	LS	FINISHING ROADWAY	\$3,000.00	\$3,000.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$65.00	\$2,340.00
103	93	CY	SHOULDER BACKING	\$20.00	\$1,860.00
					otal: \$97,347.00 otal: \$97,347.00

Yarbs Grading and Paving, Inc. - Additive 4 (Location 14A - Brawley Avenue)

\$149,016.00

Item	O	11!4	Itawa Danawinstian	Itam Drian	Futancian
No.	Quantity		Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	y award independently from entire bid.		
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$10,000.00	\$10,000.00
106	202	CY	SHOULDER BACKING	\$20.00	\$4,040.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$110.00	\$82,390.00
108	1	TON	MINOR HOT MIX ASPHALT	\$150.00	\$150.00
109	1	TON	TACK COAT	\$600.00	\$600.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$10.00	\$3,230.00
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$8,000.00	\$8,000.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.00	\$2,070.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.00	\$3,250.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$30.00	\$360.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$40.00	\$2,120.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$45.00	\$2,385.00
117	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$5.00	\$1,305.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.10	\$10,912.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$800.00	\$3,200.00
					tal: \$149,016.00 tal: \$149,016.00

Yarbs Grading and Paving, Inc. - Additive 5 (Survey Monument Well Installations)

\$87,000.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Own	ner-agency ma	y award	independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$1,500.00	\$18,000.00
123	12	EA	Job Site Management (Per Road Segment)	\$300.00	\$3,600.00
124	73	EA	Survey Monument (Type D)	\$800.00	\$58,400.00
125	1	EA	Prepare and Implement WPCP	\$1,000.00	\$1,000.00
126	12	EA	Mobilization (Per Road Segment)	\$500.00	\$6,000.00
				Alternate	Total: \$87,000.00 Total: \$87,000.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
1	1	LS	MOBILIZATION	\$800,000.00	\$800,000.00
2	500,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$500,000.00
3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$1,500.00	\$12,000.00
5	1	LS	TRAFFIC CONTROL SYSTEM	\$756,000.00	\$756,000.00
6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$5,000.00	\$20,000.00
7	1	LS	JOB SITE MANAGEMENT	\$10,000.00	\$10,000.00
8	1	LS	PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN	\$10,000.00	\$10,000.00
9	1	LS	REMOVE PAVEMENT MARKERS	\$10,000.00	\$10,000.00
10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.55	\$128,866.65
11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.00	\$13,456.00
12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$400.00	\$1,080,000.00
13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$8.00	\$3,200.00
14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$8.00	\$155,120.00
15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$95.00	\$9,359,020.00
16	141	TON	MINOR HOT MIX ASPHALT	\$200.00	\$28,200.00
17	94	TON	TACK COAT	\$750.00	\$70,500.00
18	141,346	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$2.75	\$388,701.50
19	160	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$160.00
20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$2.00	\$9,160.00
				То	tal: \$15,059,885.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$1,700.00	\$98,600.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$1,150.00	\$13,800.00
23	24,095	CY	SHOULDER BACKING	\$34.00	\$819,230.00
24	1	LS	FINISHING ROADWAY	\$16,356.05	\$16,356.05
25	4,580	SF	PAINT DIKE 2-COAT	\$1.20	\$5,496.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.00	\$4,000.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.00	\$160.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.80	\$60,389.60
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.60	\$30,969.60
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$1.80	\$14,140.80
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$1.80	\$6,208.20
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.00	\$114,996.00
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$3.60	\$4,554.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$3.60	\$9,316.80
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$1.80	\$13,116.60
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$1.80	\$1,357.20
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$1.80	\$2,277.00
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.00	\$14,362.00
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.00	\$2,400.00
				Tota	al: \$15,059,885.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.00	\$6,090.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.00	\$4,445.00
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.00	\$3,008.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.00	\$5,328.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.00	\$776.00
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$25.00	\$2,800.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$25.00	\$4,850.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.00	\$5,760.00
48	2	EA	REPLACE CURB RAMP	\$8,000.00	\$16,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$69.00	\$324,714.00
				Tota	al: \$15,059,885.00

Emmett's Excavation, Inc. - Additive 1 (Location 11A - CSA 35 "AS" Dogwood)

\$1,047,739.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag	ency may	y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$30,000.00	\$30,000.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$49,000.00	\$49,000.00
54	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$1,000.00	\$1,000.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$550.00	\$24,750.00
57	1	LS	CLEARING AND GRUBBING	\$12,000.00	\$12,000.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$44.00	\$9,768.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$135.00	\$754,515.00
60	26	TON	MINOR HOT MIX ASPHALT	\$215.00	\$5,590.00
61	7	TON	TACK COAT	\$750.00	\$5,250.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$6.00	\$5,880.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,000.00	\$7,000.00
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,700.00	\$6,800.00
65	1,533	CY	SHOULDER BACKING	\$62.00	\$95,046.00
66	1	LS	FINISHING ROADWAY	\$2,000.00	\$2,000.00
67	6	CY	IMPORT BORROW	\$200.00	\$1,200.00
68	6	CY	EMBANKMENT	\$200.00	\$1,200.00
					al: \$1,047,739.00 al: \$1,047,739.00

Emmett's Excavation, Inc. - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$178,507.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$20,000.00	\$20,000.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$5,000.00	\$5,000.00
73	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
74	1	LS	PREPARE & IMPLEMENT WPCP	\$1,000.00	\$1,000.00
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$382.00	\$46,604.00
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$147.00	\$54,096.00
77	5	TON	MINOR HOT MIX ASPHALT	\$280.00	\$1,400.00
78	1	TON	TACK COAT	\$750.00	\$750.00
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$4.00	\$9,580.00
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$3.00
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$30.00	\$5,400.00
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,000.00	\$4,000.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,700.00	\$3,400.00
84	93	CY	SHOULDER BACKING	\$150.00	\$13,950.00
85	1	LS	FINISHING ROADWAY	\$2,000.00	\$2,000.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$110.00	\$3,300.00
					tal: \$178,507.00 tal: \$178,507.00

Emmett's Excavation, Inc. - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$127,075.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$20,000.00	\$20,000.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$5,000.00	\$5,000.00
91	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$1,000.00	\$1,000.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$44.00	\$2,464.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$139.00	\$49,206.00
95	46	TON	MINOR HOT MIX ASPHALT	\$148.00	\$6,808.00
96	3	TON	TACK COAT	\$750.00	\$2,250.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$4.00	\$6,960.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,000.00	\$2,000.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,700.00	\$6,800.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$1,000.00	\$3,000.00
101	1	LS	FINISHING ROADWAY	\$2,000.00	\$2,000.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$65.00	\$2,340.00
103	93	CY	SHOULDER BACKING	\$100.00	\$9,300.00
					tal: \$127,075.00 tal: \$127,075.00

Emmett's Excavation, Inc. - Additive 4 (Location 14A - Brawley Avenue)

\$175,578.00

Item	Ouromtitus	11!4	Itawa Dagawinstian	Itam Drian	Futancian
No.	Quantity	Unit	Item Description	item Price	Extension
Alternat	te: Owner-ag	ency may	y award independently from entire bid.		
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$15,000.00	\$15,000.00
106	202	CY	SHOULDER BACKING	\$50.00	\$10,100.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$103.00	\$77,147.00
108	1	TON	MINOR HOT MIX ASPHALT	\$950.00	\$950.00
109	1	TON	TACK COAT	\$750.00	\$750.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$20.00	\$6,460.00
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$9,000.00	\$9,000.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.00	\$2,070.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.00	\$3,250.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$30.00	\$360.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$40.00	\$2,120.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$45.00	\$2,385.00
117	1	LS	MOBILIZATION	\$5,000.00	\$5,000.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$70.00	\$18,270.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.10	\$10,912.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$1,700.00	\$6,800.00
					tal: \$175,578.00 tal: \$175,578.00

Emmett's Excavation, Inc. - Additive 5 (Survey Monument Well Installations)

\$266,700.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Owr	ner-agency ma	y award	I independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$9,200.00	\$110,400.00
123	12	EA	Job Site Management (Per Road Segment)	\$1,100.00	\$13,200.00
124	73	EA	Survey Monument (Type D)	\$1,700.00	\$124,100.00
125	1	EA	Prepare and Implement WPCP	\$1,000.00	\$1,000.00
126	12	EA	Mobilization (Per Road Segment)	\$1,500.00	\$18,000.00
					otal: \$266,700.00 otal: \$266,700.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
1	1	LS	MOBILIZATION	\$1,500,000.00	\$1,500,000.00
2	500,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$500,000.00
3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$1,000.00	\$8,000.00
5	1	LS	TRAFFIC CONTROL SYSTEM	\$625,000.00	\$625,000.00
6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$7,500.00	\$30,000.00
7	1	LS	JOB SITE MANAGEMENT	\$5,000.00	\$5,000.00
8	1	LS	PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN	\$5,000.00	\$5,000.00
9	1	LS	REMOVE PAVEMENT MARKERS	\$11,000.00	\$11,000.00
10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.60	\$140,581.80
11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.50	\$15,138.00
12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$335.00	\$904,500.00
13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$6.00	\$2,400.00
14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$7.00	\$135,730.00
15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$93.00	\$9,161,988.00
16	141	TON	MINOR HOT MIX ASPHALT	\$175.00	\$24,675.00
17	94	TON	TACK COAT	\$2,250.00	\$211,500.00
18	141,346	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$2.60	\$367,499.60
19	160	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.10	\$176.00
20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$11.00	\$50,380.00
				То	tal: \$15,419,068.15

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$1,600.00	\$92,800.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$1,000.00	\$12,000.00
23	24,095	CY	SHOULDER BACKING	\$41.00	\$987,895.00
24	1	LS	FINISHING ROADWAY	\$110,000.00	\$110,000.00
25	4,580	SF	PAINT DIKE 2-COAT	\$1.30	\$5,954.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.80	\$4,400.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.80	\$176.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.85	\$64,163.95
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.75	\$33,873.00
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$2.00	\$15,712.00
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$2.00	\$6,898.00
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.10	\$126,495.60
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$4.00	\$5,060.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$4.00	\$10,352.00
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$2.00	\$14,574.00
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$2.00	\$1,508.00
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$2.00	\$2,530.00
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.10	\$15,798.20
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.10	\$2,640.00
				Tota	al: \$15,419,068.15

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.50	\$6,525.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.50	\$4,762.50
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.50	\$3,196.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.50	\$5,661.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.50	\$824.50
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$26.50	\$2,968.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$26.50	\$5,141.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.50	\$6,120.00
48	2	EA	REPLACE CURB RAMP	\$8,000.00	\$16,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$12.00	\$56,472.00
				Tota	al: \$15,419,068.15

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag	ency may	y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$51,900.00	\$51,900.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$40,700.00	\$40,700.00
54	1	LS	JOB SITE MANAGEMENT	\$500.00	\$500.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$5,000.00	\$5,000.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$540.00	\$24,300.00
57	1	LS	CLEARING AND GRUBBING	\$6,800.00	\$6,800.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$24.00	\$5,328.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$130.00	\$726,570.00
60	26	TON	MINOR HOT MIX ASPHALT	\$168.00	\$4,368.00
61	7	TON	TACK COAT	\$3,000.00	\$21,000.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$12.40	\$12,152.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,400.00	\$9,800.00
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,850.00	\$7,400.00
65	1,533	CY	SHOULDER BACKING	\$70.00	\$107,310.00
66	1	LS	FINISHING ROADWAY	\$26,750.00	\$26,750.00
67	6	CY	IMPORT BORROW	\$200.00	\$1,200.00
68	6	CY	EMBANKMENT	\$700.00	\$4,200.00
					al: \$1,091,018.00 al: \$1,091,018.00

Agee Construction - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$182,743.30

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alterna	te: Owner-age	ency may	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$15,000.00	\$15,000.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$15,000.00	\$15,000.00
73	1	LS	JOB SITE MANAGEMENT	\$500.00	\$500.00
74	1	LS	PREPARE & IMPLEMENT WPCP	\$500.00	\$500.00
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$416.00	\$50,752.00
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$155.00	\$57,040.00
77	5	TON	MINOR HOT MIX ASPHALT	\$168.00	\$840.00
78	1	TON	TACK COAT	\$530.00	\$530.00
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$4.40	\$10,538.00
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.10	\$3.30
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$23.00	\$4,140.00
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,475.00	\$5,900.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,775.00	\$3,550.00
84	93	CY	SHOULDER BACKING	\$32.00	\$2,976.00
85	1	LS	FINISHING ROADWAY	\$3,200.00	\$3,200.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$175.00	\$5,250.00
					tal: \$182,743.30 tal: \$182,743.30

Agee Construction - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$143,189.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$13,000.00	\$13,000.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$14,900.00	\$14,900.00
91	1	LS	JOB SITE MANAGEMENT	\$500.00	\$500.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$500.00	\$500.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$95.50	\$5,348.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$155.00	\$54,870.00
95	46	TON	MINOR HOT MIX ASPHALT	\$168.00	\$7,728.00
96	3	TON	TACK COAT	\$530.00	\$1,590.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$6.50	\$11,310.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,475.00	\$2,950.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,775.00	\$7,100.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$1,150.00	\$3,450.00
101	1	LS	FINISHING ROADWAY	\$3,000.00	\$3,000.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$71.00	\$2,556.00
103	93	CY	SHOULDER BACKING	\$80.00	\$7,440.00
					tal: \$143,189.00 tal: \$143,189.00

Item	Quantity	Unit	Item Description	Itom Price	Extension
No.	_		·	item Frice	LAGIISIOII
Alternat	te: Owner-age	ency may	award independently from entire bid.		
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$8,300.00	\$8,300.00
106	202	CY	SHOULDER BACKING	\$62.50	\$12,625.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$105.00	\$78,645.00
108	1	TON	MINOR HOT MIX ASPHALT	\$530.00	\$530.00
109	1	TON	TACK COAT	\$530.00	\$530.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$16.50	\$5,329.50
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$7,630.00	\$7,630.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.20	\$2,208.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.30	\$3,445.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$33.00	\$396.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$42.00	\$2,226.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$48.00	\$2,544.00
117	1	LS	MOBILIZATION	\$12,000.00	\$12,000.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$30.00	\$7,830.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.80	\$13,376.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$1,775.00	\$7,100.00
					tal: \$169,718.50 tal: \$169,718.50

Agee Construction - Additive 5 (Survey Monument Well Installations)

\$188,840.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Owr	ner-agency ma	ıy award	independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$5,500.00	\$66,000.00
123	12	EA	Job Site Management (Per Road Segment)	\$70.00	\$840.00
124	73	EA	Survey Monument (Type D)	\$1,500.00	\$109,500.00
125	1	EA	Prepare and Implement WPCP	\$500.00	\$500.00
126	12	EA	Mobilization (Per Road Segment)	\$1,000.00	\$12,000.00
				Alternate	Total: \$188,840.00 Total: \$188,840.00

Region No. Quantity Unit Item Description Item Price Extension 1 1 1 LS MOBILIZATION \$1,500,000.0 \$1,500,000.0 \$1,500,000.0 \$1,500,000.0 \$1,500,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,737,000.0 \$1,737,000.0 \$1,737,000.0 \$1,737,000.0 \$1,737,000.0 \$1,737,000.0 \$1,737,000.0 \$1,737,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0 \$1,000.0						
2 500,000 \$ SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS) \$1,00 \$500,000.00 3 100,000 \$ SUPPLEMENTAL WORK \$1,00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$980.00 \$7,840.00 5 1 LS TRAFFIC CONTROL SYSTEM \$1,737,000.00 \$11,737,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,500.00 \$18,000.00 7 1 LS JOB SITE MANAGEMENT \$5,000.00 \$5,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$1,000.00 \$1,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 <th></th> <th>Quantity</th> <th>Unit</th> <th>Item Description</th> <th>Item Price</th> <th>Extension</th>		Quantity	Unit	Item Description	Item Price	Extension
2 \$500,000 \$ PRICE INDEX FLUCTUATIONS) \$1.00 \$500,000.00 3 100,000 \$ \$UPPLEMENTAL WORK \$1.00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$980.00 \$7,840.00 5 1 LS TRAFFIC CONTROL SYSTEM \$1,737,000.00 \$11,737,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,500.00 \$18,000.00 7 1 LS JOB SITE MANAGEMENT \$5,000.00 \$5,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$1,000.00 \$11,000.00 9 1 LS REMOVE PAVEMENT WATER POLLUTION \$10,000.00 \$11,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF	1	1	LS	MOBILIZATION	\$1,500,000.00	\$1,500,000.00
4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$980.00 \$7,840.00 5 1 LS TRAFFIC CONTROL SYSTEM \$1,737,000.00 \$1,737,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,500.00 \$18,000.00 7 1 LS JOB SITE MANAGEMENT \$5,000.00 \$5,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$1,000.00 \$1,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$174,510.00 14 19,390 SY COLD PLANE ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 <	2	500,000	\$		\$1.00	\$500,000.00
5 1 LS TRAFFIC CONTROL SYSTEM \$1,737,000.00 \$1,737,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,500.00 \$18,000.00 7 1 LS JOB SITE MANAGEMENT \$5,000.00 \$5,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PLAN \$1,000.00 \$10,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$174,510.00 14 19,390 SY COLD PLANE ASPHALT (CONCRETE PAVEMENT \$9.00 \$8.866,440.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4* GRADING) \$90.00 \$8.866,440.00 16	3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,500.00 \$18,000.00 7 1 LS JOB SITE MANAGEMENT \$5,000.00 \$5,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PLAN \$1,000.00 \$1,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$8,866,440.00 15 98,516 TON HOT MIX ASPHALT \$200.00 \$28,200.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 18 141,346 <td>4</td> <td>8</td> <td>EA</td> <td>CONSTRUCTION PROJECT FUNDING SIGNS</td> <td>\$980.00</td> <td>\$7,840.00</td>	4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$980.00	\$7,840.00
7 1 LS JOB SITE MANAGEMENT \$5,000.00 \$5,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$1,000.00 \$1,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$200.00 \$282,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.	5	1	LS	TRAFFIC CONTROL SYSTEM	\$1,737,000.00	\$1,737,000.00
8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PLAN \$1,000.00 \$1,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT) \$1.00 \$45,800.00 </td <td>6</td> <td>4</td> <td>EA</td> <td>PORTABLE CHANGEABLE MESSAGE SIGN</td> <td>\$4,500.00</td> <td>\$18,000.00</td>	6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$4,500.00	\$18,000.00
8 1 LS PREVENTION PLAN \$1,000.00 \$1,000.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160	7	1	LS	JOB SITE MANAGEMENT	\$5,000.00	\$5,000.00
10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$45,800.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	8	1	LS		\$1,000.00	\$1,000.00
11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$45,800.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	9	1	LS	REMOVE PAVEMENT MARKERS	\$10,000.00	\$10,000.00
12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$300.00 \$810,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.55	\$128,866.65
13 400 LF REMOVE ASPHALT CONCRETE DIKE \$4.00 \$1,600.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.00	\$13,456.00
14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$9.00 \$174,510.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$22,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$300.00	\$810,000.00
15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$90.00 \$8,866,440.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$4.00	\$1,600.00
16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$9.00	\$174,510.00
17 94 TON TACK COAT \$1.00 \$94.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$90.00	\$8,866,440.00
18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.07 \$292,586.22 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	16	141	TON	MINOR HOT MIX ASPHALT	\$200.00	\$28,200.00
19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 \$20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	17	94	TON	TACK COAT	\$1.00	\$94.00
20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$10.00 \$45,800.00	18	141,346	SQYD	· ·	\$2.07	\$292,586.22
	19	160	TON		\$1.00	\$160.00
Total: \$15,544,726.67	20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$10.00	\$45,800.00
					То	tal: \$15,544,726.67

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$1,300.00	\$75,400.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$750.00	\$9,000.00
23	24,095	CY	SHOULDER BACKING	\$35.00	\$843,325.00
24	1	LS	FINISHING ROADWAY	\$10,000.00	\$10,000.00
25	4,580	SF	PAINT DIKE 2-COAT	\$1.20	\$5,496.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.00	\$4,000.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.00	\$160.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.80	\$60,389.60
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.60	\$30,969.60
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$1.80	\$14,140.80
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$1.80	\$6,208.20
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.00	\$114,996.00
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$3.60	\$4,554.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$3.60	\$9,316.80
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$1.80	\$13,116.60
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$1.80	\$1,357.20
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$1.80	\$2,277.00
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.00	\$14,362.00
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.00	\$2,400.00
				Tot	al: \$15,544,726.67

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.00	\$6,090.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.00	\$4,445.00
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.00	\$3,008.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.00	\$5,328.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.00	\$776.00
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$25.00	\$2,800.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$25.00	\$4,850.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.00	\$5,760.00
48	2	EA	REPLACE CURB RAMP	\$6,000.00	\$12,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$8.00	\$37,648.00
				Tota	al: \$15,544,726.67

Cal Valley Construction - Additive 1 (Location 11A - CSA 35 "AS" Dogwood)

\$1,187,713.25

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag	ency ma	y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$30,000.00	\$30,000.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$50,000.00	\$50,000.00
54	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$200.00	\$200.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$300.00	\$13,500.00
57	1	LS	CLEARING AND GRUBBING	\$50,000.00	\$50,000.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$80.00	\$17,760.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$145.00	\$810,405.00
60	26	TON	MINOR HOT MIX ASPHALT	\$200.00	\$5,200.00
61	7	TON	TACK COAT	\$1.00	\$7.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$10.00	\$9,800.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,219.73	\$8,538.11
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,104.07	\$4,416.28
65	1,533	CY	SHOULDER BACKING	\$92.75	\$142,185.75
66	1	LS	FINISHING ROADWAY	\$4,480.55	\$4,480.55
67	6	CY	IMPORT BORROW	\$373.38	\$2,240.28
68	6	CY	EMBANKMENT	\$373.38	\$2,240.28
					al: \$1,187,713.25 al: \$1,187,713.25

Cal Valley Construction - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$236,461.32

Item No.	Quantity	Unit	Item Description	Item Price	Extension
	te: Owner-age	encv mav	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$40,000.00	\$40,000.00
73	1	LS	JOB SITE MANAGEMENT	\$2,633.65	\$2,633.65
74	1	LS	PREPARE & IMPLEMENT WPCP	\$217.16	\$217.16
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$560.75	\$68,411.50
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$166.40	\$61,235.20
77	5	TON	MINOR HOT MIX ASPHALT	\$378.40	\$1,892.00
78	1	TON	TACK COAT	\$2,733.76	\$2,733.76
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.75	\$8,981.25
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$3.00
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$34.61	\$6,229.80
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,300.00	\$5,200.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,300.00	\$2,600.00
84	93	CY	SHOULDER BACKING	\$100.00	\$9,300.00
85	1	LS	FINISHING ROADWAY	\$1,000.00	\$1,000.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$300.00	\$9,000.00
					tal: \$236,461.32 tal: \$236,461.32

Cal Valley Construction - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$168,750.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$10,000.00	\$10,000.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$40,000.00	\$40,000.00
91	1	LS	JOB SITE MANAGEMENT	\$1,000.00	\$1,000.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$200.00	\$200.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$150.00	\$8,400.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$150.00	\$53,100.00
95	46	TON	MINOR HOT MIX ASPHALT	\$160.00	\$7,360.00
96	3	TON	TACK COAT	\$1.00	\$3.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$10.00	\$17,400.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,300.00	\$2,600.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,300.00	\$5,200.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$1,300.00	\$3,900.00
101	1	LS	FINISHING ROADWAY	\$1,000.00	\$1,000.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$65.00	\$2,340.00
103	93	CY	SHOULDER BACKING	\$100.00	\$9,300.00
					tal: \$168,750.00 tal: \$168,750.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
	_		y award independently from entire bid.		
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$20,000.00	\$20,000.00
106	202	CY	SHOULDER BACKING	\$35.00	\$7,070.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$100.00	\$74,900.00
108	1	TON	MINOR HOT MIX ASPHALT	\$1,300.00	\$1,300.00
109	1	TON	TACK COAT	\$1.00	\$1.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$9.00	\$2,907.00
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$6,000.00	\$6,000.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.00	\$2,070.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.00	\$3,250.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$30.00	\$360.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$40.00	\$2,120.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$45.00	\$2,385.00
117	1	LS	MOBILIZATION	\$50,000.00	\$50,000.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$15.00	\$3,915.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.10	\$10,912.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$1,300.00	\$5,200.00
					tal: \$197,394.00 tal: \$197,394.00

Cal Valley Construction - Additive 5 (Survey Monument Well Installations)

\$208,600.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Owr	ner-agency ma	y award	d independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$3,000.00	\$36,000.00
123	12	EA	Job Site Management (Per Road Segment)	\$200.00	\$2,400.00
124	73	EA	Survey Monument (Type D)	\$2,000.00	\$146,000.00
125	1	EA	Prepare and Implement WPCP	\$200.00	\$200.00
126	12	EA	Mobilization (Per Road Segment)	\$2,000.00	\$24,000.00
					Total: \$208,600.00 Total: \$208,600.00

Region No. Quantity Unit Item Description Item Price Extension 1 1 LS MOBILIZATION \$1,387,010.00 \$1,387,010.00 \$1,387,010.00 \$1,387,010.00 \$1,387,010.00 \$1,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$10						
2 500,000 \$ SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS) \$1.00 \$500,000.00 3 100,000 \$ SUPPLEMENTAL WORK \$1.00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$466,300.30 \$466,300.30 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$6,000.00 \$24,000.00 7 1 LS JOB SITE MANAGEMENT \$18,200.00 \$18,200.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$19,600.00 \$19,600.00 9 1 LS REMOVE PAYEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE PAYEMENT MARKERS \$19,200.00 \$19,200.00 11 3,364 SF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,886.55 11 3,364 SF REMOVE ASPHALT CONCRETE PAYEMENT \$400.00 \$1,080,000.00 12		Quantity	Unit	Item Description	Item Price	Extension
2 500,000 \$ PRICE INDEX FLUCTUATIONS) \$1,00 \$500,000.00 3 100,000 \$ SUPPLEMENTAL WORK \$1,00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$466,300.30 \$466,300.30 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$6,000.00 \$24,000.00 7 1 LS JOB SITE MANAGEMENT \$19,200.00 \$19,200.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$19,600.00 \$19,600.00 9 1 LS REMOVE PAVEMENT WATER POLLUTION \$19,600.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$1,3456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE	1	1	LS	MOBILIZATION	\$1,387,010.00	\$1,387,010.00
4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$466,300.30 \$466,300.30 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$6,000.00 \$24,000.00 7 1 LS JOB SITE MANAGEMENT \$18,200.00 \$19,600.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$19,600.00 \$19,600.00 9 1 LS REMOVE PAVEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT (TYPE A 3/4" GRADING) \$10.00 \$10.046,632.00 15 <	2	500,000	\$		\$1.00	\$500,000.00
5 1 LS TRAFFIC CONTROL SYSTEM \$466,300.30 \$466,300.30 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$6,000.00 \$24,000.00 7 1 LS JOB SITE MANAGEMENT \$18,200.00 \$19,600.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PLAN \$19,600.00 \$19,600.00 9 1 LS REMOVE PAVEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4° GRADING) \$102.00 \$40,890.00 16	3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$6,000.00 \$24,000.00 7 1 LS JOB SITE MANAGEMENT \$18,200.00 \$18,200.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$19,600.00 \$19,600.00 9 1 LS REMOVE PAVEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$1,08,666.65 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$40,890.00 16 141 TON TACK COAT \$3,100.00 \$2290.00 18<	4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$1,000.00	\$8,000.00
7 1 LS JOB SITE MANAGEMENT \$18,200.00 \$18,200.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$19,600.00 \$19,600.00 9 1 LS REMOVE PAVEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$40,890.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$222,000.00	5	1	LS	TRAFFIC CONTROL SYSTEM	\$466,300.30	\$466,300.30
8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$19,600.00 \$19,600.00 9 1 LS REMOVE PAVEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00	6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$6,000.00	\$24,000.00
8 1 LS PREVENTION PLAN \$19,600.00 9 1 LS REMOVE PAVEMENT MARKERS \$19,200.00 \$19,200.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$221,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON </td <td>7</td> <td>1</td> <td>LS</td> <td>JOB SITE MANAGEMENT</td> <td>\$18,200.00</td> <td>\$18,200.00</td>	7	1	LS	JOB SITE MANAGEMENT	\$18,200.00	\$18,200.00
10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	8	1	LS		\$19,600.00	\$19,600.00
11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	9	1	LS	REMOVE PAVEMENT MARKERS	\$19,200.00	\$19,200.00
12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.55	\$128,866.65
13 400 LF REMOVE ASPHALT CONCRETE DIKE \$10.00 \$4,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT NITERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.00	\$13,456.00
14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$6.50 \$126,035.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$400.00	\$1,080,000.00
15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$102.00 \$10,048,632.00 16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$10.00	\$4,000.00
16 141 TON MINOR HOT MIX ASPHALT \$290.00 \$40,890.00 17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$6.50	\$126,035.00
17 94 TON TACK COAT \$3,100.00 \$291,400.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$102.00	\$10,048,632.00
18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.00 \$282,692.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	16	141	TON	MINOR HOT MIX ASPHALT	\$290.00	\$40,890.00
18 141,346 SQYD MAT) \$2.00 \$282,092.00 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT S1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	17	94	TON	TACK COAT	\$3,100.00	\$291,400.00
19 160 10N INTERLAYER) \$1.00 \$100.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.00 \$22,900.00	18	141,346	SQYD	•	\$2.00	\$282,692.00
	19	160	TON		\$1.00	\$160.00
Total: \$15,862,625.75	20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$5.00	\$22,900.00
					Т	otal: \$15,862,625.75

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$1,000.00	\$58,000.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$1,200.00	\$14,400.00
23	24,095	CY	SHOULDER BACKING	\$25.00	\$602,375.00
24	1	LS	FINISHING ROADWAY	\$185,000.00	\$185,000.00
25	4,580	SF	PAINT DIKE 2-COAT	\$1.20	\$5,496.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.00	\$4,000.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.00	\$160.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.80	\$60,389.60
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.60	\$30,969.60
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$1.80	\$14,140.80
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$1.80	\$6,208.20
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.00	\$114,996.00
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$3.60	\$4,554.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$3.60	\$9,316.80
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$1.80	\$13,116.60
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$1.80	\$1,357.20
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$1.80	\$2,277.00
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.00	\$14,362.00
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.00	\$2,400.00
				To	tal: \$15,862,625.75

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.00	\$6,090.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.00	\$4,445.00
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.00	\$3,008.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.00	\$5,328.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.00	\$776.00
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$25.00	\$2,800.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$25.00	\$4,850.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.00	\$5,760.00
48	2	EA	REPLACE CURB RAMP	\$10,000.00	\$20,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$18.00	\$84,708.00
				Tot	tal: \$15,862,625.75

Teichert Construction - Additive 1 (Location 11A - CSA 35 "AS" Dogwood)

\$1,182,349.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag	ency ma	y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$110,000.00	\$110,000.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$41,900.00	\$41,900.00
54	1	LS	JOB SITE MANAGEMENT	\$5,000.00	\$5,000.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$5,200.00	\$5,200.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$580.00	\$26,100.00
57	1	LS	CLEARING AND GRUBBING	\$21,000.00	\$21,000.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$25.00	\$5,550.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$131.00	\$732,159.00
60	26	TON	MINOR HOT MIX ASPHALT	\$440.00	\$11,440.00
61	7	TON	TACK COAT	\$3,100.00	\$21,700.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$4.00	\$3,920.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,100.00	\$7,700.00
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,000.00	\$4,000.00
65	1,533	CY	SHOULDER BACKING	\$80.00	\$122,640.00
66	1	LS	FINISHING ROADWAY	\$21,100.00	\$21,100.00
67	6	CY	IMPORT BORROW	\$800.00	\$4,800.00
68	6	CY	EMBANKMENT	\$400.00	\$2,400.00
					al: \$1,182,349.00 al: \$1,182,349.00

Teichert Construction - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$220,817.25

Item No.	Quantity	Unit	Item Description	Item Price	Extension
	te: Owner-age	ency may	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$20,000.00	\$20,000.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$33,000.00	\$33,000.00
73	1	LS	JOB SITE MANAGEMENT	\$3,000.00	\$3,000.00
74	1	LS	PREPARE & IMPLEMENT WPCP	\$6,200.00	\$6,200.00
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$415.00	\$50,630.00
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$150.00	\$55,200.00
77	5	TON	MINOR HOT MIX ASPHALT	\$1,000.00	\$5,000.00
78	1	TON	TACK COAT	\$3,200.00	\$3,200.00
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.75	\$8,981.25
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$3.00
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$6.00	\$1,080.00
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,100.00	\$4,400.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,000.00	\$2,000.00
84	93	CY	SHOULDER BACKING	\$93.00	\$8,649.00
85	1	LS	FINISHING ROADWAY	\$6,300.00	\$6,300.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$205.00	\$6,150.00
					tal: \$220,817.25 tal: \$220,817.25

Teichert Construction - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$158,988.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$13,000.00	\$13,000.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$15,500.00	\$15,500.00
91	1	LS	JOB SITE MANAGEMENT	\$3,200.00	\$3,200.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$5,500.00	\$5,500.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$100.00	\$5,600.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$158.00	\$55,932.00
95	46	TON	MINOR HOT MIX ASPHALT	\$210.00	\$9,660.00
96	3	TON	TACK COAT	\$3,200.00	\$9,600.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$4.00	\$6,960.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$1,100.00	\$2,200.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,000.00	\$4,000.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$1,200.00	\$3,600.00
101	1	LS	FINISHING ROADWAY	\$6,300.00	\$6,300.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$65.00	\$2,340.00
103	93	CY	SHOULDER BACKING	\$93.00	\$8,649.00
					tal: \$158,988.00 tal: \$158,988.00

Item	Quantity	Unit	Item Description	Itom Price	Extension
No.	_		·	item Frice	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$19,500.00	\$19,500.00
106	202	CY	SHOULDER BACKING	\$50.00	\$10,100.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$133.00	\$99,617.00
108	1	TON	MINOR HOT MIX ASPHALT	\$2,500.00	\$2,500.00
109	1	TON	TACK COAT	\$3,200.00	\$3,200.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$18.00	\$5,814.00
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$10,000.00	\$10,000.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.00	\$2,070.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.00	\$3,250.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$30.00	\$360.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$40.00	\$2,120.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$45.00	\$2,385.00
117	1	LS	MOBILIZATION	\$18,500.00	\$18,500.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$30.00	\$7,830.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.75	\$13,200.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$1,000.00	\$4,000.00
					tal: \$209,450.00 tal: \$209,450.00

Teichert Construction - Additive 5 (Survey Monument Well Installations)

\$111,500.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Own	ner-agency ma	y award	independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$2,000.00	\$24,000.00
123	12	EA	Job Site Management (Per Road Segment)	\$750.00	\$9,000.00
124	73	EA	Survey Monument (Type D)	\$900.00	\$65,700.00
125	1	EA	Prepare and Implement WPCP	\$2,000.00	\$2,000.00
126	12	EA	Mobilization (Per Road Segment)	\$900.00	\$10,800.00
					otal: \$111,500.00 otal: \$111,500.00

Rem. No. Quantity Unit Item Description Item Price Extension 1 1 1 LS MOBILIZATION \$1,600,000.00 \$1,600,000.00 \$1,600,000.00 \$1,600,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$500,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>						
2 500,000 \$ SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS) \$1.00 \$600,000.00 3 100,000 \$ SUPPLEMENTAL WORK \$1.00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8.000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$1,615,500.52 \$1,615,500.52 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$5,000.00 \$20,000.00 7 1 LS JOB SITE MANAGEMENT \$50,000.00 \$50,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$595.00 \$596.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 <th></th> <th>Quantity</th> <th>Unit</th> <th>Item Description</th> <th>Item Price</th> <th>Extension</th>		Quantity	Unit	Item Description	Item Price	Extension
2 500,000 \$ PRICE INDEX FLUCTUATIONS) \$1.00 \$500,000.00 3 100,000 \$ SUPPLEMENTAL WORK \$1.00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$1,615,500.52 \$1,615,500.52 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$5,000.00 \$20,000.00 7 1 LS JOB SITE MANAGEMENT \$50,000.00 \$50,000.00 8 1 LS DREPARE & IMPLEMENT WATER POLLUTION \$595.00 \$595.00 9 1 LS REMOVE PAVEMENT WATER POLLUTION \$595.00 \$595.00 9 1 LS REMOVE PAVEMENT WATER POLLUTION \$595.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$31,456.00 12 2,700 CY REPLA	1	1	LS	MOBILIZATION	\$1,600,000.00	\$1,600,000.00
4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$50,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$13,456.00 \$13,456.00 \$13,456.00 \$13,456.00 \$13,456.00 \$13,456.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 <td>2</td> <td>500,000</td> <td>\$</td> <td></td> <td>\$1.00</td> <td>\$500,000.00</td>	2	500,000	\$		\$1.00	\$500,000.00
5 1 LS TRAFFIC CONTROL SYSTEM \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$1,615,500.52 \$2,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000	3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$5,000.00 \$20,000.00 7 1 LS JOB SITE MANAGEMENT \$50,000.00 \$50,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$595.00 \$595.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$7,881,280.00 15 98,516 TON HOT MIX ASPHALT \$200.00 \$283,200.00 16 141 TON MINOR HOT MIX ASPHALT \$2,800.00 \$263,200.00 18 141,346	4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$1,000.00	\$8,000.00
7 1 LS JOB SITE MANAGEMENT \$50,000.00 \$50,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$595.00 \$595.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$2,800.00 \$228,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.00 \$272,797	5	1	LS	TRAFFIC CONTROL SYSTEM	\$1,615,500.52	\$1,615,500.52
8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$595.00 \$595.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$2,800.00 \$28,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$25,648.00 <td>6</td> <td>4</td> <td>EA</td> <td>PORTABLE CHANGEABLE MESSAGE SIGN</td> <td>\$5,000.00</td> <td>\$20,000.00</td>	6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$5,000.00	\$20,000.00
8 1 LS PREVENTION PLAN \$595.00 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.00 \$160.00 19 160 TON	7	1	LS	JOB SITE MANAGEMENT	\$50,000.00	\$50,000.00
10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	8	1	LS		\$595.00	\$595.00
11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	9	1	LS	REMOVE PAVEMENT MARKERS	\$10,000.00	\$10,000.00
12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$345.00 \$931,500.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.55	\$128,866.65
13 400 LF REMOVE ASPHALT CONCRETE DIKE \$6.00 \$2,400.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.00	\$13,456.00
14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$10.00 \$193,900.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$345.00	\$931,500.00
15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$80.00 \$7,881,280.00 16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$6.00	\$2,400.00
16 141 TON MINOR HOT MIX ASPHALT \$200.00 \$28,200.00 17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$10.00	\$193,900.00
17 94 TON TACK COAT \$2,800.00 \$263,200.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$80.00	\$7,881,280.00
18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.93 \$272,797.78 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	16	141	TON	MINOR HOT MIX ASPHALT	\$200.00	\$28,200.00
19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.	17	94	TON	TACK COAT	\$2,800.00	\$263,200.00
20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$5.60 \$25,648.00	18	141,346	SQYD	· ·	\$1.93	\$272,797.78
	19	160	TON		\$1.00	\$160.00
Total: \$16,622,454.75	20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$5.60	\$25,648.00
					То	tal: \$16,622,454.75

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$1,100.00	\$63,800.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$1,000.00	\$12,000.00
23	24,095	CY	SHOULDER BACKING	\$60.00	\$1,445,700.00
24	1	LS	FINISHING ROADWAY	\$1,000,000.00	\$1,000,000.00
25	4,580	SF	PAINT DIKE 2-COAT	\$1.20	\$5,496.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.00	\$4,000.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.00	\$160.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.80	\$60,389.60
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.60	\$30,969.60
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$1.80	\$14,140.80
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$1.80	\$6,208.20
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.00	\$114,996.00
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$3.60	\$4,554.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$3.60	\$9,316.80
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$1.80	\$13,116.60
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$1.80	\$1,357.20
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$1.80	\$2,277.00
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.00	\$14,362.00
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.00	\$2,400.00
				То	tal: \$16,622,454.75

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.00	\$6,090.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.00	\$4,445.00
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.00	\$3,008.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.00	\$5,328.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.00	\$776.00
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$25.00	\$2,800.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$25.00	\$4,850.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.00	\$5,760.00
48	2	EA	REPLACE CURB RAMP	\$10,500.00	\$21,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$25.00	\$117,650.00
				Tota	al: \$16,622,454.75

Granite Construction - Additive 1 (Location 11A - CSA 35 "AS" Dogwood)

\$1,284,414.00

Item	_				
No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag		y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$120,000.00	\$120,000.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$200,000.00	\$200,000.00
54	1	LS	JOB SITE MANAGEMENT	\$2,250.00	\$2,250.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$1.00	\$1.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$555.00	\$24,975.00
57	1	LS	CLEARING AND GRUBBING	\$26,400.00	\$26,400.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$38.00	\$8,436.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$111.00	\$620,379.00
60	26	TON	MINOR HOT MIX ASPHALT	\$175.00	\$4,550.00
61	7	TON	TACK COAT	\$3,575.00	\$25,025.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$4.50	\$4,410.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$975.00	\$6,825.00
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$975.00	\$3,900.00
65	1,533	CY	SHOULDER BACKING	\$130.00	\$199,290.00
66	1	LS	FINISHING ROADWAY	\$1.00	\$1.00
67	6	CY	IMPORT BORROW	\$90.00	\$540.00
68	6	CY	EMBANKMENT	\$282.00	\$1,692.00
					al: \$1,284,414.00 al: \$1,284,414.00

Granite Construction - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$190,542.25

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$4,600.00	\$4,600.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$26,000.00	\$26,000.00
73	1	LS	JOB SITE MANAGEMENT	\$650.00	\$650.00
74	1	LS	PREPARE & IMPLEMENT WPCP	\$1.00	\$1.00
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$415.00	\$50,630.00
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$159.00	\$58,512.00
77	5	TON	MINOR HOT MIX ASPHALT	\$346.00	\$1,730.00
78	1	TON	TACK COAT	\$745.00	\$745.00
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.75	\$8,981.25
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$3.00
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$24.00	\$4,320.00
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$975.00	\$3,900.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$975.00	\$1,950.00
84	93	CY	SHOULDER BACKING	\$155.00	\$14,415.00
85	1	LS	FINISHING ROADWAY	\$1.00	\$1.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$236.00	\$7,080.00
					tal: \$190,542.25 tal: \$190,542.25

Granite Construction - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$142,234.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alterna	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$4,600.00	\$4,600.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$23,000.00	\$23,000.00
91	1	LS	JOB SITE MANAGEMENT	\$640.00	\$640.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$1.00	\$1.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$35.00	\$1,960.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$170.00	\$60,180.00
95	46	TON	MINOR HOT MIX ASPHALT	\$172.00	\$7,912.00
96	3	TON	TACK COAT	\$785.00	\$2,355.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$6.00	\$10,440.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$975.00	\$1,950.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$975.00	\$3,900.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$500.00	\$1,500.00
101	1	LS	FINISHING ROADWAY	\$1.00	\$1.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$65.00	\$2,340.00
103	93	CY	SHOULDER BACKING	\$156.00	\$14,508.00
					tal: \$142,234.00 tal: \$142,234.00

Item	Quantity	Unit	Item Description	Item Price	Extension
No.	_		·	110111 1 1100	Extension
Aiternai	te: Owner-age	ency may	y award independently from entire bid.		
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$28,500.00	\$28,500.00
106	202	CY	SHOULDER BACKING	\$42.00	\$8,484.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$115.00	\$86,135.00
108	1	TON	MINOR HOT MIX ASPHALT	\$2,300.00	\$2,300.00
109	1	TON	TACK COAT	\$3,385.00	\$3,385.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$40.00	\$12,920.00
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$9,500.00	\$9,500.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.00	\$2,070.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.00	\$3,250.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$30.00	\$360.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$40.00	\$2,120.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$45.00	\$2,385.00
117	1	LS	MOBILIZATION	\$3,600.00	\$3,600.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$30.00	\$7,830.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.10	\$10,912.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$975.00	\$3,900.00
					tal: \$192,655.00 tal: \$192,655.00

Granite Construction - Additive 5 (Survey Monument Well Installations)

\$175,176.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Own	er-agency ma	y award	independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$5,910.00	\$70,920.00
123	12	EA	Job Site Management (Per Road Segment)	\$360.00	\$4,320.00
124	73	EA	Survey Monument (Type D)	\$1,295.00	\$94,535.00
125	1	EA	Prepare and Implement WPCP	\$1.00	\$1.00
126	12	EA	Mobilization (Per Road Segment)	\$450.00	\$5,400.00
					Total: \$175,176.00 Total: \$175,176.00

Region No. Quantity Unit Item Description Item Price Extension 1 1 LS MOBILIZATION \$800,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00 \$600,000.00						
2 500,000 \$ SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS) \$1.00 \$500,000.00 3 100,000 \$ SUPPLEMENTAL WORK \$1.00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$705,000.00 \$19,200.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,800.00 \$19,200.00 7 1 LS JOB SITE MANAGEMENT \$10,000.00 \$10,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$1,080,000.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$367,800.00 1	Item No.	Quantity	Unit	Item Description	Item Price	Extension
2 \$50,000 \$ PRICE INDEX FLUCTUATIONS) \$1.00 \$500,000.00 3 \$100,000 \$ SUPPLEMENTAL WORK \$1.00 \$100,000.00 4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$705,000.00 \$705,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,800.00 \$19,200.00 7 1 LS JOB SITE MANAGEMENT \$10,000.00 \$10,000.00 8 1 LS DREPARE & IMPLEMENT WATER POLLUTION \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT WATER POLLUTION \$2,000.30 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$1,080.000.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080.000.00 13 400 LF REMOV	1	1	LS	MOBILIZATION	\$800,000.00	\$800,000.00
4 8 EA CONSTRUCTION PROJECT FUNDING SIGNS \$1,000.00 \$8,000.00 5 1 LS TRAFFIC CONTROL SYSTEM \$705,000.00 \$705,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,800.00 \$19,200.00 7 1 LS JOB SITE MANAGEMENT \$10,000.00 \$10,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$110,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT (TYPE A 3/4" GRADING) \$105.00 \$10,393,438.00 16	2	500,000	\$		\$1.00	\$500,000.00
5 1 LS TRAFFIC CONTROL SYSTEM \$705,000.00 \$705,000.00 6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,800.00 \$19,200.00 7 1 LS JOB SITE MANAGEMENT \$10,000.00 \$10,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PLAN \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 <td>3</td> <td>100,000</td> <td>\$</td> <td>SUPPLEMENTAL WORK</td> <td>\$1.00</td> <td>\$100,000.00</td>	3	100,000	\$	SUPPLEMENTAL WORK	\$1.00	\$100,000.00
6 4 EA PORTABLE CHANGEABLE MESSAGE SIGN \$4,800.00 \$19,200.00 7 1 LS JOB SITE MANAGEMENT \$10,000.00 \$10,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PLAN \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4* GRADING) \$105.50 \$10,393,438.00 16 141 TON TACK COAT \$1,500.00 \$14,100.00 18 <	4	8	EA	CONSTRUCTION PROJECT FUNDING SIGNS	\$1,000.00	\$8,000.00
7 1 LS JOB SITE MANAGEMENT \$10,000.00 \$10,000.00 8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$141,100.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$1.50 \$310,961.20 <td>5</td> <td>1</td> <td>LS</td> <td>TRAFFIC CONTROL SYSTEM</td> <td>\$705,000.00</td> <td>\$705,000.00</td>	5	1	LS	TRAFFIC CONTROL SYSTEM	\$705,000.00	\$705,000.00
8 1 LS PREPARE & IMPLEMENT WATER POLLUTION PREVENTION PLAN \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT) \$1.00 \$34,35	6	4	EA	PORTABLE CHANGEABLE MESSAGE SIGN	\$4,800.00	\$19,200.00
8 1 LS PREVENTION PLAN \$2,000.30 \$2,000.30 9 1 LS REMOVE PAVEMENT MARKERS \$10,000.00 \$10,000.00 10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$310,961.20 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19	7	1	LS	JOB SITE MANAGEMENT	\$10,000.00	\$10,000.00
10 234,303 LF REMOVE THERMOPLASTIC TRAFFIC STRIPE \$0.55 \$128,866.65 11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00 </td <td>8</td> <td>1</td> <td>LS</td> <td></td> <td>\$2,000.30</td> <td>\$2,000.30</td>	8	1	LS		\$2,000.30	\$2,000.30
11 3,364 SF REMOVE THERMOPLASTIC PAVEMENT MARKING \$4.00 \$13,456.00 12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$310,961.20 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	9	1	LS	REMOVE PAVEMENT MARKERS	\$10,000.00	\$10,000.00
12 2,700 CY REPLACE ASPHALT CONCRETE PAVEMENT \$400.00 \$1,080,000.00 13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	10	234,303	LF	REMOVE THERMOPLASTIC TRAFFIC STRIPE	\$0.55	\$128,866.65
13 400 LF REMOVE ASPHALT CONCRETE DIKE \$5.00 \$2,000.00 14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	11	3,364	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$4.00	\$13,456.00
14 19,390 SY COLD PLANE ASPHALT CONCRETE PAVEMENT \$20.00 \$387,800.00 15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	12	2,700	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$400.00	\$1,080,000.00
15 98,516 TON HOT MIX ASPHALT (TYPE A 3/4" GRADING) \$105.50 \$10,393,438.00 16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	13	400	LF	REMOVE ASPHALT CONCRETE DIKE	\$5.00	\$2,000.00
16 141 TON MINOR HOT MIX ASPHALT \$100.00 \$14,100.00 17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	14	19,390	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$20.00	\$387,800.00
17 94 TON TACK COAT \$1,500.00 \$141,000.00 18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	15	98,516	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$105.50	\$10,393,438.00
18 141,346 SQYD GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT) \$2.20 \$310,961.20 19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	16	141	TON	MINOR HOT MIX ASPHALT	\$100.00	\$14,100.00
19 160 TON ASPHALT BINDER (GEOSYNTHETIC PAVEMENT \$1.00 \$160.00 \$10.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1	17	94	TON	TACK COAT	\$1,500.00	\$141,000.00
19 160 10N INTERLAYER) \$1.00 \$160.00 20 4,580 LF PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R \$7.50 \$34,350.00	18	141,346	SQYD		\$2.20	\$310,961.20
	19	160	TON		\$1.00	\$160.00
Total: \$17,120,576.00	20	4,580	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$7.50	\$34,350.00
					Т	otal: \$17,120,576.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
21	58	EA	SURVEY MONUMENTS (TYPE D)	\$1,100.00	\$63,800.00
22	12	EA	INDUCTIVE LOOP DETECTOR (TYPE A & TYPE D)	\$800.00	\$9,600.00
23	24,095	CY	SHOULDER BACKING	\$80.00	\$1,927,600.00
24	1	LS	FINISHING ROADWAY	\$40,000.00	\$40,000.00
25	4,580	SF	PAINT DIKE 2-COAT	\$1.20	\$5,496.00
26	500	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)	\$8.50	\$4,250.00
27	20	EA	PAVEMENT MARKER (RETROREFLECTIVE) (TYPE G)	\$8.50	\$170.00
28	75,487	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$0.85	\$64,163.95
29	19,356	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 18)	\$1.65	\$31,937.40
30	7,856	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 21)	\$1.85	\$14,533.60
31	3,449	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$1.90	\$6,553.10
32	114,996	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 27B)	\$1.00	\$114,996.00
33	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 29)	\$3.80	\$4,807.00
34	2,588	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 31)	\$3.80	\$9,834.40
35	7,287	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 34A)	\$1.90	\$13,845.30
36	754	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38)	\$1.90	\$1,432.60
37	1,265	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 38A)	\$1.90	\$2,403.50
38	14,362	LF	** PAINT TRAFFIC STRIPE (DETAIL 39)	\$1.00	\$14,362.00
39	2,400	LF	** PAINT TRAFFIC STRIPE (DETAIL 39A)	\$1.00	\$2,400.00
				To	otal: \$17,120,576.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
40	870	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$7.00	\$6,090.00
41	635	SF	THERMOPLASTIC PAVEMENT MARKING (WHITE CROSS WALK)	\$7.00	\$4,445.00
42	376	SF	THERMOPLASTIC PAVEMENT MARKING (RAILROAD CROSSING)	\$8.00	\$3,008.00
43	666	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$8.00	\$5,328.00
44	97	SF	THERMOPLASTIC PAVEMENT MARKING (STOP)	\$8.00	\$776.00
45	112	SF	** PAINT PAVEMENT MARKING (BIKE LANE WITH PERSON	\$25.00	\$2,800.00
46	194	SF	** PAINT PAVEMENT MARKING (BIKE LANE ARROW)	\$25.00	\$4,850.00
47	720	SF	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$8.00	\$5,760.00
48	2	EA	REPLACE CURB RAMP	\$7,500.00	\$15,000.00
49	4,706	SY	MISCELLANEOUS AREAS	\$17.00	\$80,002.00
				То	tal: \$17,120,576.00

Avison Construction - Additive 1 (Location 11A - CSA 35 "AS" Dogwood)

\$1,047,595.00

14					
Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-ag	ency may	y award independently from entire bid.		
50	1	LS	MOBILIZATION	\$5,000.00	\$5,000.00
51	30,740	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$30,740.00
52	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
53	1	LS	TRAFFIC CONTROL SYSTEM	\$30,000.00	\$30,000.00
54	1	LS	JOB SITE MANAGEMENT	\$100.00	\$100.00
55	1	LS	PREPARE & IMPLEMENT WPCP	\$400.00	\$400.00
56	45	CY	REMOVE ASPHALT CONCRETE PAVEMENT	\$500.00	\$22,500.00
57	1	LS	CLEARING AND GRUBBING	\$2,000.00	\$2,000.00
58	222	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$65.00	\$14,430.00
59	5,589	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$135.00	\$754,515.00
60	26	TON	MINOR HOT MIX ASPHALT	\$115.00	\$2,990.00
61	7	TON	TACK COAT	\$1,000.00	\$7,000.00
62	980	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$20.00	\$19,600.00
63	7	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$800.00	\$5,600.00
64	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,100.00	\$4,400.00
65	1,533	CY	SHOULDER BACKING	\$90.00	\$137,970.00
66	1	LS	FINISHING ROADWAY	\$2,500.00	\$2,500.00
67	6	CY	IMPORT BORROW	\$125.00	\$750.00
68	6	CY	EMBANKMENT	\$350.00	\$2,100.00
					al: \$1,047,595.00 al: \$1,047,595.00

Avison Construction - Additive 2 (Location 12A - CSA 35 "AG" Wild Rose)

\$171,592.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
	te: Owner-age	ency may	award independently from entire bid.		
69	1	LS	MOBILIZATION	\$5,000.00	\$5,000.00
70	2,024	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$2,024.00
71	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
72	1	LS	TRAFFIC CONTROL SYSTEM	\$8,000.00	\$8,000.00
73	1	LS	JOB SITE MANAGEMENT	\$100.00	\$100.00
74	1	LS	PREPARE & IMPLEMENT WPCP	\$400.00	\$400.00
75	122	CY	REPLACE ASPHALT CONCRETE PAVEMENT	\$400.00	\$48,800.00
76	368	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$175.00	\$64,400.00
77	5	TON	MINOR HOT MIX ASPHALT	\$135.00	\$675.00
78	1	TON	TACK COAT	\$1,000.00	\$1,000.00
79	2,395	SQYD	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$4.00	\$9,580.00
80	3	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$3.00
81	180	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$9.00	\$1,620.00
82	4	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$800.00	\$3,200.00
83	2	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,100.00	\$2,200.00
84	93	CY	SHOULDER BACKING	\$130.00	\$12,090.00
85	1	LS	FINISHING ROADWAY	\$1,500.00	\$1,500.00
86	30	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$200.00	\$6,000.00
					tal: \$171,592.00 tal: \$171,592.00

Avison Construction - Additive 3 (Location 13A - CSA 35 "AK" Woody Lane)

\$138,557.00

-					
Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternat	te: Owner-age	ency may	award independently from entire bid.		
87	1	LS	MOBILIZATION	\$5,000.00	\$5,000.00
88	1,947	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$1,947.00
89	5,000	\$	SUPPLEMENTAL WORK	\$1.00	\$5,000.00
90	1	LS	TRAFFIC CONTROL SYSTEM	\$7,500.00	\$7,500.00
91	1	LS	JOB SITE MANAGEMENT	\$100.00	\$100.00
92	1	LS	PREPARE & IMPLEMENT WPCP	\$400.00	\$400.00
93	56	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$100.00	\$5,600.00
94	354	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING) PG64-28	\$175.00	\$61,950.00
95	46	TON	MINOR HOT MIX ASPHALT	\$135.00	\$6,210.00
96	3	TON	TACK COAT	\$1,000.00	\$3,000.00
97	1,740	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E) CASE-R	\$8.00	\$13,920.00
98	2	EA	ADJUST VALVE BOX FRAME AND COVER TO GRADE	\$800.00	\$1,600.00
99	4	EA	ADJUST SURVEY MONUMENTS TO GRADE (TYPE D)	\$1,100.00	\$4,400.00
100	3	EA	ADJUST OVERSIDE DRAIN	\$2,000.00	\$6,000.00
101	1	LS	FINISHING ROADWAY	\$1,500.00	\$1,500.00
102	36	SQFT	PAINT STOP BAR AND LIMIT LINE (2-COAT)	\$65.00	\$2,340.00
103	93	CY	SHOULDER BACKING	\$130.00	\$12,090.00
					tal: \$138,557.00 tal: \$138,557.00

Item	Quantity	Unit	Item Description	Item	Extension
No.	_		y award independently from entire bid.	Price	
104	5,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENT FOR PRICE INDEX FLUCTUATIONS)	\$1.00	\$5,000.00
105	1	LS	TRAFFIC CONTROL SYSTEM	\$7,500.00	\$7,500.00
106	202	CY	SHOULDER BACKING	\$70.00	\$14,140.00
107	749	TON	HOT MIX ASPHALT (TYPE A 3/4" GRADING)	\$90.00	\$67,410.00
108	1	TON	MINOR HOT MIX ASPHALT	\$200.00	\$200.00
109	1	TON	TACK COAT	\$1,000.00	\$1,000.00
110	323	SY	COLD PLANE ASPHALT CONCRETE PAVEMENT	\$14.00	\$4,522.00
111	1	EA	REPLACE CURB RAMP (ADA CURB RAMP)	\$7,500.00	\$7,500.00
112	690	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 5)	\$3.00	\$2,070.00
113	650	LF	THERMOPLASTIC TRAFFIC STRIPE EXTRUDED (DETAIL 22)	\$5.00	\$3,250.00
114	12	SF	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$30.00	\$360.00
115	53	SF	THERMOPLASTIC PAVEMENT MARKING (STOP AHEAD)	\$40.00	\$2,120.00
116	53	SF	REMOVE THERMOPLASTIC PAVEMENT MARKING	\$45.00	\$2,385.00
117	1	LS	MOBILIZATION	\$100.00	\$100.00
118	261	SY	PLACE MISCELLANEOUS AREAS	\$10.00	\$2,610.00
119	4	TON	ASPHALT BINDER (GEOSYNTHETIC PAVEMENT INTERLAYER)	\$1.00	\$4.00
120	3,520	SY	GEOSYNTHETIC PAVEMENT INTERLAYER (PAVING MAT)	\$3.10	\$10,912.00
121	4	EA	SURVEY MONUMENTS (TYPE D)	\$1,100.00	\$4,400.00
					tal: \$135,483.00 tal: \$135,483.00

Avison Construction - Additive 5 (Survey Monument Well Installations)

\$105,630.00

Item No.	Quantity	Unit	Item Description	Item Price	Extension
Alternate: Own	ner-agency ma	y award	independently from entire bid.		
122	12	EA	Traffic Control (Per Road Segment)	\$2,000.00	\$24,000.00
123	12	EA	Job Site Management (Per Road Segment)	\$10.00	\$120.00
124	73	EA	Survey Monument (Type D)	\$1,100.00	\$80,300.00
125	1	EA	Prepare and Implement WPCP	\$10.00	\$10.00
126	12	EA	Mobilization (Per Road Segment)	\$100.00	\$1,200.00
					Total: \$105,630.00 Total: \$105,630.00